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13/GRALL
Time allotted for marking answers of all 200 Questions: 3.00 Hours]

N200 ~ct 'a'iR' ~~ ~ ~~ : 3.00 l.l'O't]

(Maximum Marks: 200

(arlllCfiM atcI; : 200

(For Subject Physics +Chemistry and Mathematics or Biology or Agriculture>

Set-A
NOTE

J 1. This paper consists of Three Sections which are as follows :

Section. Question s. Block Subject Remarks
~ ~F~ro~m~~T~o~~T~o~m~I-+ ~ ~
~_A~-+~0~1~~~50~ __ ~50~~P~h~£S~i~~__ ~ ~ __ ~C~0~mz=Plu=ls~0~~ ~
~~B __ +-~5~1~~1~00~~~50~+.~C~h~em~is~t~~~~ __ ~ ~C~0~m~plu~1s~o~~__ ~~ ~ ~ __ ~~ __ ~

C 101 200 100 Mathematics / Biology / Candidates should attempt only one subject which is
Agriculture selected as in the application form.

Total 01 200 200 ~------------------~----------------------------------~
2. The candidatewill have to attempt only 200 questions numberedfrorn.t to 200 and each question carries 01 mark. All questions

are compulsory. There is no negative marking.
3. Tally the number of pages along with no. of questions printed on cover page of the booklet. Also check that question booklet

contains the questions of all relevant subjects/topics, as required and stated above and no repetition or omission of questions
is evident. If any discrepancy is found in the question booklet, the same can be Ieplaced with another correct Question Booklet.

4. Before answering the questions please read car9fully the instructions printed on th~ back cover page of the question booklet
and strictly follow them. There is no provision of erasing or changing of the answer marked in O.M.R. Answer Sheet by any
other means, therefore, mark your answers by blackening full circles by black ball-polnt pen only.

5. Use of any type of calculafor, mobile phone or any other electronic equipment and log table etc. is strictly prohibited.
6. Candidates to note that their valuation of Section 'C' shall be done as per their option of opted in Application form and

accordingly printed in Test Admit Card. I .
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2. 3Ml!ff1mT~Sfi'1'Iiq; 1~ 200 (f1.f;'W' 200 mCli'r~~'ffl"ITt, ~~~ 01 aicl;omh~Ntm ~h~~~
~tl

3. ~-~~~~mqft~omf1:R;rr;:l~'T'O'tR~~~aif~CR~ Im?!m~-~-qwn~fc:rq-q~~'$IR
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PHYSICS
1. Which' of the following force is non-conservative in.nature? .

(A) Coulomb (8) Frictional
. .

. (D) Restoring force of an elastic spring(C) Gravitational

f¥;J 'B ~ fctiff ~ Cfft ~ alm~t ?

(A) ~

(C) ~{lrcftll

(8) er$r

(0) ~ MTT q;y SlflI.,ll., ~

2. If g is the acceleration due to g~avity on earth's surface, the gain in potential energy of
an object of mass m raised from the surface of earth to a height equal to the radius R
of the earth is :.

1
(A) -mgR (8) 2mgR

2

1(C) mgR (0) 4mgR

~ 1J~ Cfft mrQ -ql: ~eqlll ~ q;y l1R gt m m ~OlI'lH Cfft ~ q:;)1J~Cfft mrQ ~ 1J~ Cfft

~ R cfi ~ ~ (lCfi ~ \iIR'-q ~ ~R1\J1 ~ -q ~ M' :

1
(A) -mgR

2
(8) 2 mgR

'(C) mgR
1

(0) -mg R4 .

3. The radius of a soap bubble is rand the surface tension of soap solution is T. Keeping
the temperature constant, the bubble is blown to twice its diameter. The necessary .
energy is:

(A) 8nlT (8) 12nlT

(C) 16nrr (0) 24nf2T

~ ~ cfi ~. Cfft ~ rCf?U ~ cfi ~ q;r 'TO (f'I'fq T %1mi:r 'Bm- qftqJ., ~ ~
q:;) tt1lcfH ~ '&'1mq:;) GT 'TIT CfR MTflfftl ~ ~'~ICf, •• r'~ ~: .
(A) 81tf2T (8) 12nf2T

(C) 161tIT (0) 24nlT

A~Set'



4. ,'Real gases;behave.like an ideal gas at:

(A) low pressure and low temperature

.(8) high pressure and high temperature

(C), low pressure and high temperature

(0) high pressure and low temperature .

i!4t«1fOlCflih1 ~ -m:r ~ 'W1R ~ ~ ~ :

(A) , f.{l:;f GJGf 3th: f.p:;:r arl "R

(8) ,~Gfcif am: ~ arl"CR

(C) f.FJ Gfcif am: ~ arl"CR

(O),~ Gfcif am: f.:rl:;:rarl"CR '

5. A litre of perfect gas at a pressure, of 72 cm of mercury column is compressed
isothermally to a volume of 900 cc. The stress in terms of length of mercury column
is:

(A) 80cl)1

(CYRcm

(8) 64·8cm

(0) 72 cm

~ ~ ~ TRf""fll, ~ GJGf 72 M- -qft cfi ~ cfi ~ %, ff'H'II41ll ~ 11900 "E.R M-
aw:rq.:r ~ '(OJ 41f~d~ \5'fRIT t" I -qft cfi ~ cn1 ~ cfi ~ II ~ ~ :

(A) 80 ~ (8) 64·8 M-

(C) 8M (0) 72M

6. The ratio of specific heats (C IC ) in case of gases of diatomic molecules is :" p . v , '

(I~) 1·3 (8) 1·4

'(cj 1'5' . (0) 1·6

mQ<4''1Zh 1m cfi·~ ~ ~a1T tfiT·~ (~/C)t" :
(A) . 1·3 (8) 1,4

(C) 1·5· (0) 1'6

131GftALl ',.ge-a A~Set
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7. The mechanical equivalent of heat:

(A) has the same dimensions as of heat
(8) has the same dimensions as of work
(C) has the same dimensions as of energy
(0) is dimensionless
~~~~Cfl1:

(A) fcfl:rr ~ Cfl1fcfl:rr ~ "@lR mm ~
(8) fcfl:rr cnr4 Cfl1fcfl:rr ~ "@lR mm ~
(C) fcfl:rr ~ Cfl1fcp:n ~ "@lR mm ~
(0) cnlt fcp:n ~ (fcP:llfCl t\1"i) mm ~

':""

8. Taking the direction to the right as the positive direction of the x-axis, the function
Y= f(x - vi) represents:
(A) stationary wave'
(8) a wave travelHng to the right
(C) a wavetrayel!ing to the left
(O) a simple harmonic osclllation
~.G'Tfu;ft fu.w Cfl1am: X-3lSlCfl1~ fu.w m ~ m 1:fiffi y = f(x .; vi) P!{i:\Mct"Cfi«fT~ :;>

(A) ~<WT
(8) zyff fu.w -ij ~ CIWft <WT
(C) ~ fu.w -ij ~ cum <WT

).

,!',

9. Energy is not carried by :
(A) transverse progressive wave
(8) longitudinal progressive wave
(C) electromagnetic wave
(0) stationary waves

~&ro~~~mm~ :
(A) Wf1lft~#f
(8) '5rTTl"ft~ #f
(C) ~ 1k4Cfll~#f
(0) ~aiit

.
, •... ~"'., ...- •..,"-'-'.'-.'-"- ' ... ,

A~t
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10. Colour in thin films are seen due to :
(A) polarisation of light

(B) diffraction of light .
(C) interference of light

(0) refraction of light

~~-ij~~~~q;Jqmurmm~ :

(A) ~ cnJ ~lCfi,(ul

(B) ~ q;J fcfcRR

(C) )ICfiM q;J OllfctCfi'(ul

(0) ~cnJ~

11. If two interfering waves of wavelength Ahave a phase difference of ~ degrees, the

path difference between them is :

'A
(A) 4

(C) 'A

'A
(8) 2

(0) 2'A

'A
(A) 4

(C) 'A

'A
(8) 2

(0) 2'A

12. A point object is placed at a distance of 30 cm from a convex mirror of focal length
. aOcm. The image will form at:

(A) infinity (8) pole

(C) focus (0) 15 cm behind the mirror

~ ~ ~ 'CfiT30 m=rr qft.~ -q-{ 30 m=rr ~ ~ ~ "3W1 ~ ~ ~ '{&T -rr:rr ~ I ~

JIIfctfap:Gj~: .

(A) 3FRf-q-{

(C) ~-q-{

(8) ~-q-{

(0) ~ ~ W 15 W:ft qft ~ -q-{



13. A thin double convex lens has radii of curvature each of magnitude 40 em and is
made of glass with refractive index 1·5. The focallengtl1lof the lens is:

(A) 20 cm (8) 40 cm

(C) 35 cm (0) 50 cm

~ ~ ~ ~ Cfft ~ C!Sfim ~ 40 "@:ftCfft t- alRCffl' 1'5 :i)fqqij1iCfi~ ~ ~6ffiT t I

~~~m:

...
I

I
(A) 20"@:ft

(C) 35-Mt

(8) 40"@:ft

(0) 50-Mt

14. Momentum of a photon of frequency v is:,
I
I
j
2
:~
;'j

1
f 15. The work-function for a certain metal with threshold wavelength of 1243 nm is :

(A) 1·82 eV (8) 1·00 eV

j (C) 1·24 eV (0) 1·024 eV
I
! ~ mg; ~ ~ ~ (1bl~e41243 ~..il41l'" m, cit ~ mg; ~ ~ CfiTlf-~ m:

(A) 1·82 eV (8) 1·00 eV

(C) 1·24 eV (0) 1·024 eV

(A) hv (8) hcv

(C) hv/c

v ~~\filiR~~mt:
(A) hv

(0) hc/v

(8) bcv

(0) hc/v(C) hv/c

16. .Ratio of the velocities of radio waves and light waves in free space is :

(A) 1 (8) < 1

(C) > 1 (0) infinity

~ 1l ~ ri o$!JT"5I'Cfim ri ~~ CfiT ~ mt- :
(A) 1 (8) < 1

(C) > 1 (0) 3FRf
,.,' ,/



17. In a coolidge tube the current in the circuit for filament is chang~, the cutoff
wavelength:
.(A) will increase (8) will decrease·
(e) may decreaseor increase (D) will remain unchanged
~ ~ ~ -ij ~ ~ (filament) ~ ."q ~ ~ ~ "tffttr~ -ij 'efm qf<q<l'1M \lffiTT t m
~ a:(i,aezf em 'IJR :

(A) ~
(C) "eg3l~~~t

(8) .~
(D) 3iqf<qfdij ~

18. The nucleus ot an atom is made up of :
(A) protons and electrons
(8) neutrons and electrons
(e) protons and neutrons
(D) neutrons and positrons
~q;r~GRTm-rt :

(A) mif.:r v:ci ~<?I~f.1~
(8) ~ ~ ~<?I~T'1~
(C) "5Ilif.:rv:ci ~ ~
(D) ~. v:ci 41\il1c;T'1~

19. RadiQ-activesubstances does not emit:

(A) protons

(8) electrons

.(C) helium nuclei

(D) electromagnetic waves

~"tIGT~ GRTf.l1:;f em ~ m ~ t:
(A) "5Ilif.:rq;r

(8) ~<?I~T'1om
(e) mfi:.1114 ~ CfiT

(D) ~-~PS4~;;111 mCfiT

H-Sl. 13IQML.L 1",,12
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20•• he en~rgy of the hydrogen atom in its rlhorbiliS 'En = .; t~~4e~_'Th~energyteqUired
n

for sending· eleCtron from 1st orbit to the 2nd orbit will be:

(A) 10-2eV

(B) 12-1 eV

(C) 13-6 eV

(0) 3-4 eV

.. ' 13-4 .
~1~(I'311~~ rih Cf;a;r.q'R En = --2 eV tl~f1~T,,''Cfil~Cfi'Iij~~-q;a;r-ij~~

. n '.
~ 311~~0"4i:ti~ ~ .!

(A) 10-2 eV

(B) 12-1 eV

(C) 13-6 eV

{O} 3-4eV

21. The depletion layer width of a pn-junction has maximum value with :

{A} . zero bias

(B) forward bias

(C). a.c.blas

{O} reverse bias

pn-~.q ~~-qm~~ ~~t:
(A) ~~.q

{B} a:m~.q

(C) .v;.m- (SiNIEWdf·~) ~ .•..q

~~.q

f
f 1
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II 22. The function of a donor in extrinsic semi-conductor is to :
I

(A) add holes to valence band

(8) add electrons to valence band

(C) remove electrons from valence band

(0) add electrons to conduction band

fcnm ~ 31",'tIIt1(Jf1 -q GRIT ~ CfiTCfiTlf ~ :

(A) ~~-q~qft~~

(8) ~ ~ -q~M~f11qft ~ ~

(C) ~ ~ ~ ~M~f;fiCfiT H6Sifiqul Cfl8T

(0) ~ ~ -q~M~T11qft ~ ~

23. Which of the following wave-lengths of x-rays have the largest penetrating power?

(A) 2 A

(C) 6 A

(8) 4 A

(0) 8 A

(A) 2 A

(C) 6 A·

(8) 4 A

. (0) 8 A

24; Which one is correct?
~(A) Joule::: Coulomb x Volt
(C) Joule = Coulomt?Nolt
fuq-q ~cp;rr wt" ?

(A) ~=~x~

(C) ~=~~

(8) Joule = Volt x Ampere
(0) Volt = Joule x Coulomb

(8) ~=~x~

(0) ~=~x~



25. An electron is brought towards another electron. The el~ctric potential'energyof th~
system: '

,.(A) decreases

(C) does not change

(B) increases

(0) becomes zero

(A) ~

(C) 31QRClfJct ~

(B) ~

(0) ~m~

26. When a bar magnet of moment M is deflected through an angle e ina unjfqrm m~gnetic
field 8, the work done is: '

(A) M8 (B) M8cosO

(C) M8 sin 0 (0)' M8 (1 - cos 0)

M 1kfCfl1lf ~ qft ~ ~- ~ q;) ~ W1R 1kfCfl1lf a);r, 8, ~ 0 ctftur ~ 'cf; ~ i~~Pl~
q;p.f mrrr :

(A) MB

(C) M8sinO

(8) MBcosO

(0) MB (1 - coss)

27. The angle of dip at a given place is 30°. If the horizontal component, of earth's m~gnetic

field is.H, the total earth's magnetic field will be :

(A) H/2 (B) 2H/J"S

(0) HJ"S(C) H-!2
fctffit ~ "tR fucq. '.~30() ~ I .~1:S!:Cft.q1. ~ '9;klif)llf a);r?,f)f,~ H ~;;ffi ~~ tf;T ~

'ij)kl if)1If a);rmrrr:'

(A). H/2

(C) H-!2
AWi~t

(B) 2H/J"S

(0) HJ"S

I
!

J



I
I
1

lI

28. Magnetic fields. do not i~teract with:

(A) electric charges at rest

(C) permanent magnet at rest

1klCfl1'4 ~ QlH4RCfl ~ wCfitff t- :
(A) WR~am-B

(C) WR~~~

(8) electric charges in motion

(0) permanent magnet in motion

(8) TTfut:rr;; ~ am ~

(0) ~~~~

29. The radius of curvature of the path of a charged particle in a uniform magnetic field is

directly proportional to :

(A) the charge onthe particle

(C) the intensity of the field

(8) the momentum of the particle

(0) the energy of the particle

·,(A) "Cf)11f ~ ~ "'R (8) "Cf)11f ~ ~ ,"'R

(C) ~"Cfl1~"'R (0) Cfi1JT"Cfl1~"'R

30.· A charge q is placed at the centre of the line joining two equal charges Q, Q. The

system of three charges will be in equilibrium if q is equal to :

1
(A) - 2 Q

1
.(8) + 4 Q

1 1
(C) - 4 Q (0) + 2 Q

~ q ~ G1 ~ ~ Q, Q Cfi1 ~ cnffi ~ ~ lice<:[ ~ "'R ~ Tf<1T t I ~ cfRf am CfiT

~ {"il a:j fCl ~ -ij mrrr 7'.ffu: q CfiT l1R % :

1
(A) - 2 Q

1
(C) - 4 Q

1
(0) + - Q

2

I,
\
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, 31. A hollow sphere of charge does not produce an electric fiefdata'ny,:

(A) interior point

(B) outer point

(e) beyond 2 metres

(D) none of these

~ ~ ~@('1llfrffi ~ ~3li, 'tR ~ ~ ~ ~~t :
(A) ~q1~.~~'tR

(B) ~q1~~~'tR

(e) ~q1~ 2lfm¢'tR

(o)m~~~

32. A celt of e.m.f. of 1·5 volts when connected across a resistotof14ohms pro~be~ Ci

voltage of only 1·4 volts across the resistor. The internal resistance oHhec9Umust

be:
(A). 21 ohms (B) 15 ohms

(e) 14 ohms (D) 1 ohm

1·5 ~ fci.qr.Gf. q1~ ~ CfiT 14 aWfq1~ ~ ~'tR ~1-4 ~Cfn~~Mw~~hdl,tr
." ", '-'J

'fu;r q;J 31H'IRCfi mu~~ ~ :
(A) 21aWf

(e) 14 aWf

(B) 15 aW:J

(D) 1 aWf
\ "

33. Kirchhoff's laws for analysing electrical circuits are basedonthe'conse-wati6n,of:H

(A) mass and charge ' (B) momernumand en~rgy .

(e) charge arid energy (D) all of these

~ ~ q1 rCj~~6JOIq1 fuQ: rCfl«s;~'h q1 f.p:p:r ~ q1"fk~ 'tR ~ ~ :

(A) ~~411~~(B) ~'~~

A~Set
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34. The most commonJy used wire in hea.ti(lg appliances ismade of-:
(A) aluminium (8) nickel

(e) tin (D) nichrome

~~"1l 'E'tI¥OlI"'4d: ~~CfR1TOR~mm~:·

(A) %f~f-1lj¥Ol ~ (8) ~ ~

(C) ~"B (D) 11~§fi)1Of"B

35. Electric conduction in electrolytes occurs through the flow ot:
(A). electrons

(8) positive ions only

(e) negati".e ions only

(D), both the positive and the negative. ions
·fcfim ~ ~ "1l~ -:qJffi f.p:;:J ~.~ mu mm ~ :

(A) ~~'*lf.1Gm

(8) ~.~~.~:

(e) ~ 3fiOI\t"tCfl 3WR mu
(D) GFit~ v:ci 3fiOI\,4Cf1 aw:Af ID'U

36. A current loop is similar to a :

(A) quadrupole

(e) magnetic dipole
~ mu~f.!l:;f"1l~~~~ ?

(A) ~ .

(e) ~Cflllj ~~

(8) multipote

(D) none of these

(8) ~

(D) ~~ctiW~

37.· The magnetlc field atthe centre of a circular loop of radius R carrying a current I is :
• •• ..~. - '" ,c_ ...• " •••

(A) poIJR . (8) . ·po1/2R .

(e) polR . (D) 2PoIJR

~ ~'dlcfH<R~~~\f{ 1~~~1 ~~cR\f{ 11O<li1Cflllj .~~:

.(A)· poIJR (8) pol/2R

(e) p~IR (D) 2pol/R

..
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38. Two current carrying conductors' are parallel ttreach other:. 'ffthey early current in the'"
same direction they Wiltexperience:
(A) no mutual force
(B) a repulsive force
(C) an attractive force
(D) none of these
~~~-ij ~~m~tl~~ ~~mrr~~tm~~~:
, (A) ~ QRflIRCh ~ o:rtfWIT
(8) !;IRtCfi6{Oj ~~

(C) ~~WIT

(D)' ~~~o:rtf

39. The e.m.f. generated in a thermo-couple :
(A) does not depend upon the nature of ~hetwo metals of the thermo-couple
(8) depends on the ternperatureofthe hot junction
(C) depends on the tempenituredfthecold junction
(D) depends on the difference, in temperature between the tWOjundions oHhe

thermo-couple
, ~mtf-~~-ij«tFl~~~:

(A) ~ qft ~ ~aff qft ~ "tit f;r~ -::rID.qmnt
(8) lfJf ~ c6" "ffi1t "tR:Ff\R.CfiUf{;t
(C) lirn ~ c6""ffi1t"tR: ~ ~ t
(D) "ffi1t ~ ~ ~ dNHR "tR: f.:J\k ~t

40. Which. pf the following,iostrumeQ,~,hasthe highest ;ipt&maJr~sistance ?
(A) voltmeter
(8) galvanometer
(C) ammeter, •.
(D) milli.;ammeter. •
'~ -ij~~~tm' ~1*<1f~~ _ ~ trat t? '".

, i..

(A) cilw:..n2{
'(8) ~~",~4k(
(C) ~ ..•. '

",(0), ~-~

. .

. '
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;11. ~treson~n~Jhecjrcujt impedance is:
'1 {A)purely"resistive

(C) purely Inductive
~f1,lG~ -crfttr~cn1,~ mm t- :
(Aj ~~
(C) ~~

(8) purely capacitative
(0) None of these

(8) ~'~

(0) ~ ,-H' ~ -.:rtt

,j
;'''·i I~,~'i'~

,
"

1
(8) -LI2

2

(0) L2/2I

: ;.:' ~(,
.. (, ..

142. Th~energy stored in an inductor is :

/',.

(A) L/2I2

:. :".'_' .. ,'" li:.,·.,.

V,IInereL is the self inductanceandJis the currentflowlnq in the coil.
l~

l

.~~ ttii°'Mt1.~'~ ~·m t:
• ,; I,e ;:! i,-<~ IV"'," ~'\\'.~'\':' ; :. t:,

i '

(0) L2j2t

- "

.\a"f,stePtJf;¥transforrn~r~~rating on 230V supplies a current 012 A to a load.Thetun,1
: '~~~,i<i'S1\:~'25. ;Th'e'turreiit ln'the primary coil Winbe: '\: ',"" .'\, , :~

:i~

<j(~) 12'5 A,',
~ ,f

:~ (C) 50A t:' (0) O~OiAj".

~~~]lt1,~j~ihl4t?~OV ~,f~t;I,Jf.q<¥l't~ ~"~ cit,2A '~~:~~ Cfi{ffl tl ~'~
.; :25i,'~"SlT~ Cf10~~ -q ~m: ' .,'
(A) 12·5A , (8) 25 A

!

(8) 25 A

, . .

(9) 50A (0) 0·08 A

A-$ei,
, .);

, 13lG~lL~eLm
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44. The unit of Planck's constant is :
(A) Joule. see
(C) Joule

~ R4diEh <tt ~ t :
(A)t~. ~.

(C) ~

(~) Joutej~ec

(0) Newton

(8) ~/~.

(0) ~

45. The dimensiorral formula for buJkmodulus of rigidity.is :
. '. .

(A) ML-:1r-1 (8) ML-3r-2

(C) ML2r-2 (D) ML~1r-2

aw:RR ~ :ruricn Cfil ~ ~ t :
(A) ML-1r-1 (8) ML-3'T;2

(C) ML2r-2 (0) ML;1r-2

46. A body is moving in a horizontal circle with a constant speed. What is constant?,
(A) velocity (8) acceleration

(C) kinetic energy (0) force

~~ ~~-ij~ f1fS?i:4d ~~Tffu~~tr~~~t ?

(A) ~ (8) ~

(C) ~~ (D) "GRi

47. A particle moves in a circle of 25 emat 2 revotutionspersecond. Theacceleratlon of
the particle in metre per second" is :

(A) 87t2 (8) 47t2

(C) 27t2 (D) 7t2 .

~ ..,Cfi1JT 25~.·~ ~ ~ ~"#'m~' 2qf{Sflqo;.~ ~ri!,~ ~~q;'ds2 -ij)~.~r
CfiT ~ mrrr : .... .j-c • .,

(8) 47t2

(0) 7t2

1



I, 48. A mass m is initially in the position of rest. A cOhStal)t force is applied on it. The
velocity acquired by it in a giv~ndisplapeTl1ent is directly proportional to:

(A) 1/Jm
(C) m

(8) Jm
(0)1/m

m 5::&l1Ol11CfiT~ ftrus ~ ~.q ~ t-I ~ 1R ~ Hllr~d~ ww:rr \fflOT t-I ~ ~

f(H~lq1.q ftrus;ro ~ ~ 3'lj}6I01I:J:ilcft~ t- :
(A) 1/Jm
(C) m

(8) Jm
(0) 1/m

49. When a spring is stretched through a distance s, its potential energy is 10 Joules. The
work (in Joule) required to stretch it further through s will be :
(A) 10 (8) 20 I
(C) 30 (0) 40

~ ~ fui1l qIT s ~ Wfi ~ \fflOT t-, m~ f~fu\jj ~ 10 ~ t-I ~ am· arrit s ~ ocn
~~~ OfI~:P~Ch~ (~.q)m :
(A) 10 (8) 20
(C) 30 (0) 40

50. The gravitational and electrical forces between two electrons 10 cm apart are F and
F respectively. The ratio F IF is of the order of : .9e 9 e
(A) 1036 (8) 10
~1~ (~1~
Given: G = 6·67 X 10-11N.m2/kg2, me= 9·1 x 10-31kg

l' .
--. = 9x 109N.m2/C2 q= 1·6 x 10-19C4n EO ' e .

10WIT Cfft~ 1R ~ GT~<?l~1'11~ 11'I:ZT ~ ~ 16tc4111 ~ fCl'q(1111 <iR'f §hlOllj'Efl< F9 am Fe ~ I

F IF ~~Cfftwm:9 e
(A) 1036

(C) 10-36
(8) 10
(0) 10-43

~7p.lf~: G = 6·67 X 10-11 N.m2/kg2, me= 9·1 X10-31 kg

1
-=9 x 109N.m2/C2 q = 1·6 X 10-19C4n EO ' e
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CHEMISTRY
51. Which of the fofJowing'reactants will reactwnh aeetylene?

(a) Nalliq. NH3, (b) MeMg8r/ether, (c) CuCI/NH3(aq.)
(A) a and b only (8) a, band c
(C) conly , (D) a and conly
f.{l:;:f ~ -ij ~ ~ it41flctH ~ fin<n ~~ ?
(a)Nalliq. NH3• (b) MeMg8r/ether, (c) CuCIINH3 (aq.)
(A) ~ a q b (8) a, bq c

(C) ~c (D) ~aqc

52. If 0·166 9 of a monobasic acid reqmres20 mtof 0·1 N, NaOH for comotete neutralization,
its equivalent weight will be :
(A) 63 (8) 48
(C) 83 (D) 31
7:IfG 0·166 g 1tCfl ~ affiP;r ~ em ~ ~ ~ ~ WrQ: 20 ml, 0·1 N; NaOH "ctr
611c!~4tfi('j1mmtm ~ CfiT~ 'llR ~ :

(A) 63
(C) 83

(8) 48
(D) 31

53. _ A true statement regarding the complex sodium trioxalatoferrate (111)is :
(A) It is a cationic complex .. .
(8) Coordination number aftha central atom is 3
(C) Oxidation state of the central atom is -3
(D) It can show optical isomerism
~ B1f.s44 ~3iT~~i\cB'{G (III) ~ ~~ -ij ~ ~ cn~ ~ ~ :
(A) ~~~t
(8) ~ ~ qft *i4;:q41 ~3 t
(C) ~ ~ qft 3iTcffi'ttfi{OI.~ - 3.t

(D) ~ Sltfil~n4 fi41C!4q('ji ~ ~ t

54. A monobasic acid which is reducing innature is :
(A) H3P03 (8) H3P02
(C) H2S (D) HCI04
~ ~ affiP;r~, ijj) 61Q:q14Cfi~ q;;y t, t :
(A) H3P03 (8) H3P02
. (C) H2S (D) HCI04
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55. Which of the followingalkenes will give the same product when treated with HBrin
the presence and in the absence of peroxide?

(A) Propene (B) .2-Butene

(C) 2-Methyl propene' (0) 1-Butene
f.:p::;:r ~<."Chl.fi ~ ~, HBr ~ ~ ~ 1R, 1R.mcrul$'15 CfIT dqf~fd cr ~::tq~fd ~ em ~ ~ ?

(A) >W:iR (B) 2-~

(C) 2-fi:J~ irtfR (0) 1-~

56. Distance between two bonded atoms in isostructural diamond and carborundum (SiC,
is 1·54 A and 1·94 A respectively. Covalent radius of Si in carborundum is :

(A) 0·20 A (B) 1·17 A
(C) 0·54 A (0) 0·97 A
fI'"I~<:q11("'"ICfi '1514'"10;g q CfiI;s(\\0'15'"l (SiC). ~ 3lTT.ffi ~ ~~ Gl ~alf ~ 11&1 ~ ~ ~:

1'54 A cr 1·94 A ~ 1 Cfilaff(O'15'"l 1l Si qft flt?~4\\31Cfi f5r\TliT ~ :

(A) 0·20 A (B) 1·17 A
(C) 0'54 A (0) 0'97 A

57. Standard entropy of A2, B2and Ae3 are 60, 40 and 50JK-1 mor ' respectively. For the
reaction

1 3
2A2 +282 ~ AB3, ~H =-30 kJ

to be at equilibrium, the temperature will be :

(A) 600 K (B) 500 K

(C) 950 K (0) 750 K

A2, B2o~ A83 ~ llACfi ~~: 60, 40 q 50 JK-1 rnor" f I arf~

1 3
-A2 + -82 ~ AB3,~H=-30kJ2 2

'Cfi1 fllR\lq~l1l ~ ~ ~ ~ mrrr :

(A) 600 K

(C) 950 K

(S)' 500 K

(0) 750 K

H-8.~ A-Set
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.58. At 25°C, the solubitityproduct of Mg(OH)2 is 1-0x 10~11_At which pH, Mg2+ ions win
start precipitating in the form of Mg(OH)2 from a solution of 0-0.01 M Mg2+ ions?

(A) 7 (B) 9'

(C) 10 (D) 11

Mg(OH)2 CfiT 25°C i:n: f6fcAlfctl ~ 1-0 x 10~11~ (~ pH.1R 0:0.01 M Mg2+ am~~
"B' Mg2+ awR, Mg(OH)2 ~~.q, 3lCfRm-~ ?

(A) 7 (B) 9

(C) 10 (0) 11

59. Boron cannot form this anion:

(A) BH ~ (B) B(OH)4-4
(C) BF 2- (0) BO-s 2
~~~awRm~~:
(A) BH - (B) B(OH)4-4
.(C) BF2- (0) BO-s 2

60. Which one of the following is evolved when ammonia is passed over heated CuO ?

(A) N02 (B) N2

(C) N20 . (0) HN02
'ct1:ijCuO 1R 3'l41f'1lfl ~ ~ 1R~ .q "B' cp:rr Hen CflctI ~ ?

61. Which one of the following has highest ionisation ehergy ?

(A) Na (B) Li

(C) K (0) Rb

~.q"B' fCflfli!hl 3WFR ~ ~ 3'If'$fi ~ ?

(A) Na (B) Li

(C) K (0) Rb

A-Set



'r
I
!
i
I
i

I
i

62. 2'95 9 of an amide, dbtainad:frbm'FtcOOHI,"6n'h~attRdWlth'aij:(aYi~Jblv~s O;85'81bf
ammonia. R in the acid is :

(A) H C'," (8), C
2
H
5

(C) eH3 (0) e6HS

ReOOH ~ ~ ~ rt 2·95 9 qft. 8JR rtm2f l"I"4 ~ 1:R0·85 9 ~ f.P.flt.1ctl t" I ~"B R
.'t":

(A) H

(C) CH3

(8) e2H5

~ '(0) 'C~Hs

63. Ether is an :

(A) Antiseptic

(e) Antipyretic

~?:Rt~ :

(A) ~

(C) ~ f1QRCfl

; "'",

(8) Analgesic

(0) Anaesthetic
...•
r

i. ~

.' -, }.:If;" ,,
(8) Gcf f1QRCfl

(0) f~~~dCfl

64. Ethoxy-benzene on treatment with HI yields:

(A) PhI + EtOH

(e) PhI + EtI

(8) PhOH + EtI ).,

OEt , ..:.;,

(0) r9J
I

(A) PhI + EtOH (8) PhOH + EtI

OEt

(D) r9J
I '.':r.

r~

(e) PhI + EtI

•
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67. Among the following the most s.tClb~,carb9niumion is:
+ +

(A) CH3 (8) C6HsCH2
+ +

(C) C6HsCHC6HS (0) C6HsCHCH3
~"B~~ CfiI~f.l""4JOi3WR~:

+ +
(A) CH3 (8) C6HsCH2

+ +
(C) C6HsCHC6HS (0) C6HsCHCH3

68. The rate constant for a first order reaction is 1'54 x 10-3 ·s:-1.Its t1/2 will be :
(A) 77 s (8) 450 s
(C) 900 s (0) 770 s
~ >T?ll1 ~ qft aTI~ 'CfiT cl<r ft~Hich1'54 x 10-3 S-1 % I ~ t1/2m:
(A) 77 s (8) 450 s
(C) 900 s (0) 770 s

69. Percentage of C and H in an organic compound are respecnvely 68·85 and 4·91. Its
empirical formula will be :
(A) C3H60 (8) C7H602

(C) CaHa (0) C6H602
~ CfiI~T1Cfi~"B C q H 'CfiT >Tfum Sfi1m: 68·85 q 4·91 % I ~ 1C1liqlffi~ ~ :

(A) C3H60 (8) C7H602
(C) CaHa (0) C6H602

70. One s and three p orbitals of the same principal quantum number are available. What
is the minimum number of electrons that will be required to fill these orbitals so that
each orbital has at least one electron in the ground state?
(A) 8 (8) 4
(C) 5 (0) 3
~ ~ tJtqlOcJOi~ ~ ~ s ~ <fR p Cfi"l$fl ~ % I $8~'f"''Cfil ~'~ -m
3iICll?4Cfim~ <;fia,:rcnT cnl ~ "B, ~ fen ~ Cfi"l$fl "B Cfill fr "Cfi11\{Cfi $8~T1 3i"M ~ "Bm?
(A) 8
(C) 5

(8) 4
(0) 3

H-81

..
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71. The gas which is produced in the reaction of oxalic acid with cone, H2S04 and causes

asphyxiation is :

(A) CO2 (B) S02

(C) CO (0) H20

a:if~f(1Cfl ~ q ~ H2S04 qft ~ ~ -m qrffi ~ ~ ~ell~{lm '4T t:
(A) CO2 (B) S02

(C) CO (0) H20

72. Cu2+(aQ) is not reduced by :

(A) Zn

(C) Ag

Cu2+(aQ) CfiT ~~ ~ mcrrt:
(A) Zn

(C) Ag

(B) Fe

(0)· AI

(B) Fe

(0) AI

73. Structure of XeF4 is :

(A) Tetrahedral

(C) Trigonal bipyramidal
XeF

4
qft ~ f.:n:::f t :

(A) :qg;6Cfit1Cfl14

(C) f"Cfllufl "ft;-f\:Hlf~;s14'

(B) Square Planar

(0) Square pyramidal

(B) ~"'ij("f)4 qlliGfiI<

(0) wi Fmftf;s14

74. Which of the following reactions does not give methane?

(A) Be2C + 4H20 ~ (B) AI4C3 +12~20 ~

(C) CaC2 + 2H20 ~ (0) CH3MgBr + CH30H ~

"Al1 aTI~alt if ~mm -q~ -ffl ~ ?

(A) Be2C + 4H20 ~

(C) CaC2 + 2H20 ~

(B) AI4C3 + 12H20 ~

(0) CH3MgBr + CH30H ~

A...•.Set



75. The atomic radii of Zr and Hf are almost equal because of the presence of the following
in between them:
(A) their being isoelectronic
(8) their being isotonlc

(C) lanthanide contraction

(0) Zr has higher atomic number than that ot Hf
Zr~ HfCfi1~~~~~~%:
(A) ~ ~l?MCf?(ff1Cf) ~ cfl CfiRUT

(B) ~ ,,",14~?Tr1Cf) m-:f cfl CfiRUT

(C) *~ ~ cfl CfiR1Jj

(0) Zr 7.fiT ~ ~ Hf cfl ~ ~ -B aTI~ ~ cfi" CfiRUT

76. Silver is obtained generally from Na[Ag(CN)21 :
(A) By Cu "(B) By Na

(C) By Zn (0) By Fe
Na[Ag(CN)21 -B~: ~ 1W<f c8 \lfRft 't :
(A) Cu ID"U (B) Na ID"U

(C) zn sm (0) Fe~

77. Tollen's reagent is :
(A) Solution of copper sulphate

(C) Zinc chloride solution
-2ffi;:r aTI~ 't :
(A) CfiftR ~ 7.fiT f<wr:R
(C) ~ CR'iHI$G 7.fiT f<wr:R

(B) Ammonical silver nitrate solution

(0) a-naphthol solution in alcohol

(B) ~14If1Cf)<1 ~ -;;r$ f<wr:R
(0) Q('CI11~T(1-B a-~ 7.fiT f<wr:R

78. pH of a solution containing [OH-] = 0·1 m MIL will be :

~ 1 ~) 4
(C) 10 (0) 11
~f<wr:R~ [OH-] =0·1 mM/Lm~pHWn:

(A) 'i (B) 4

lC) 10 (0) 11
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79. Which one of the foUowing Js the strongest base?
(A) NH3 (8) PH3
(C) AsH3 (0) BiH3
H¥01ft1f@ct 1l ~ etAm ~<sktctl4 a:m:t ?
(A) NH3
(C) AsH3

(8) PH3
(D) BiH3

80. Which aqueous solution of salt is most basic?
(A) strong acid and strong base (8) strong acid and weak base
(C) weak acid and weak base (0) weak acid and strong base
~ ffi1JTCfiT~ ~ ~~ a:rrft<;r ~ ?
(A) ~ ~ ~ ~ a:m: (8) ~ ~ 1J!i ~ a:m:
(C) ~ ~ 1J!i ~ a:m: (D) ~ ~ ~.~ a:m:

81. Which compound exhibits optical isomerism?
(A) CICH2CH2CH2CH3 (8) CI2CHCH2CH2CH3
(C) CH3CHCI.CH2CH3 (0) CH3CH2CHCICH2CH3

~ ~ ~CflI~ICfl Bl4lq~c4ctl ~ t ?
(A) CICH2CH2CH2CH3
(C) CH3CHCI,CH2CH3

(8) CI2CHCH~CH2CH3
(0) CH3CH2CHCICH2CH3

82. Out of the two compounds A and 8, whose structures have been shown, the boiling
point of A is expected to be :

~N02
~OH

A 8
(A) Higher than B (8) Lower than 8
(C) Equal to B (0) Half of B
GT~AalR81l~,~~~~tACfiTqq~~~t:

~N02 r(yN02

~OH OH~
A 8

(8) 8 -B -;:ffqJ

(0) B -B anm
(A) 8-B~

(C) Bct~

A"""Set H~81

,
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Ii 113. 8ismuth-209, is last stable element of which of the following natural radioactive
I series?
i

(A) 4n

(C) 4n + 2
(8) 4n + 1

(0) 4n + 3
~-209, f.:ll;f -q -Bfcfm SlI'fIMCfl ~ ~ CfiT ~ ~T~hf~ % ?

(A) 4n (8) 4n + 1

(C) 4n + 2 (0) 4n+ 3

84. Which of the following compounds tends to slow down neutrons?

(A) H2O (8) O2°
(C) N20 (0) CI20
f.:ll;f~-q-B~~~% ?

(A) H2O (8) O2°
(C) N20 (0) CI20

85. In 1-butene-3-yne, 0' and 1tbonds are:

(A) 50' and 51t (8) 70' and 31t

(C) 80' and 21t (0) 60' and 41t

1-~-3-~ -q 0'-a-~ 1tiiiPl t :
•(A) .50' (f~ 51t (8) 70' (f~ 31t

(C) 80' (f2:fT21t (0) 60' (f~ 41t

86. Which one of the following atoms/ions will have four unpaired electrons?

(A) C (8) Fe2+

(C) Ti (0) Ce

f.:ll;f~/ 31flA -q -B~ -:erR ~ ~cA'*S;T1 CfTffi ~ ?

(A) C (8) Fe2+

(C) 'n (O)Ce

A~Set
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87. Which one of the following alken,~s will react fastest with H2 under.catalytic

hydrogenation condition ?

R . R
(B) )C=C<

R H

R R
(0) 'H)C = C<H

R R
(A) )C=C<R R

R H
(C) )C=C<

R H
.. • ',' :'. i ': , " ' - ': ". ' ' .,~

f1""'lf(1fGld~')11 if ~~ ~ ~1~~\jj1')cFi<OI ~ if H2 ~ M~ '7lftr~fsl:im~?

R R R R
(A) )C =C< (8) )C =C<

R R R H
R H

(C) )C=C<
R H

R R
(0) )C =C<HH

88. For the reaction:

N2(g) + O2(g) ~ 2NO{g)
the production of NO will be favoured by :

(A) High pressures (B) Low pressures

(C) Presence of catalyst· .(0) High concentration of N2

aTI~:

N2{g) + 02{g) ~ 2NO(g)
~~, NO~~~~ ~Wrr:
(A) ~~
(C) ~:Cfil \3qf~rn

(B) ~~
(0) N2 cn1 ~ m-:mrr

89. A gas will shoWideal'behaviour at:

(A) low temperature and low pressure (B) low temperature-and highpres~ure

(C) high temperature and low pressure (0) high temperature and high pressure

~~~~~~:

(A) ~mq~~~cn:
(C) ~mq~~~cn: , .

(8) ~mq~~~"'R
(0) ~mq~~~cn:

I
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90. Which of the following metal".e'd.~L~",~f~ i~!itsnative form? ,
(A) Fe ' ~n:' ~:(lll·':'tl] N .

(C) Na .' '" ,..~.,.=:,,~.._tOL,A~_.,'
f.rt1 v-.ngalt if etA ~ if 3ltAt~~~fq·~ •.•• ;i
(A) Fe : ;(tJ) Ti
(C) Na (D) Au

91. Two molecules of formaldetlW!t~~;~fiz~IYSii'ciI"T'\,::;~"'"
(A) ethyne ;. '. : ".' . "." , "', .

(8) ethene

(C) ethane

(0) propene
'filifF('"'Stl$'S <fi en ~ ~ailJ1);ft'*{bf ~ ~l :
(A) ~~ _. ._._ ..~ . i, '.'''_._,'

,
(8) ~~

(C) ~~

(0) ~

: ,'~

'.1,

(-;;:~;:)

-s- '.,.~,.,-,., ••• "~c;. r. • !~if~;,..
92. 20 ml of 0·1 N. 30 ml of 1~ anci5li l1'li ~0·2 NSolutiOQ_ oti~ ~sare

mixed. What will be the norrri~'liiyof'ihe ri~1 sol'~don? '\~,,'J , '1'.;:.,1;
: - .>(' ' ": ~~

(A) 0·14 N

(8) 1·4N

(C) 0·1 N ; (;

(0) 1·0 N '" i ; , ,

. ;~\{., ,"-i " ;..:,', ~,;.~ ':/.;"j' .N;,. _'_ .' " ,'. "",)~ ,'. -Y·'· )~ ..c'. ~,~. ~

QI$41cffl1f{Cfl ~ 0·1 N efi 20 ~;L''f5*OO{(ij~~O'2 N.$50,:fimt:~rq~'ilii'i~,~~
. '.!. -t; ··~tl:'-lljJ~;:

"'~,' . ,~..~~ Cfll114('1('1i CFITm .?
(A) 0·14 N
(8) 1·4 N
(C) 0·1 N
(0) 1·0 N

• i..

:' 1.

H~81
.1~.' . \
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93. 0·01 mole ofwhlchbt~oxa'ates'lWill'teqdfte·~imum 'amountof KMn04 'indilute
H2S04 ?
(A) K2C204 (8) ZnC204
(C) H2C20 4 ,(~"tFee2o .(
~ H2S04 -q ~ 31TcM~2i -q ~ ~ 0·01 ~ cnl" ~ 31fCR1l'fld~.~ fuQ:, KMnO4 ~ ~

~ lIDTT qft ailq*(lICfi dI mrft ?

(A) K2C204
(C) H2C204

(B) ZnC204
LB•.f"'i ...~,{Dl7·;:ffl~20'4

94. Whichof the following aqueous solutions (0'1 M)will show the highest freezing point
depression.at25°C?
(A) NaCI (B) CSH120S
(C) AI2(S04)3 '-. ::(0) SaG12
f.:1+:::r -ij q;Fr ~ efu.;r (0·1 M), 25°C ~ 3€i3fdiOl ~ ~ R&llIJII ?

(A) NaCI . (B) CSH120S
(C) AliSO 4)3 (0) BaCI2

95. Phenol, when distilled with zinc dust, gives:
(A) CsHsCHO (B) GsHs

n ,(C) CsHriCH;r ,'. {>t.::t,j 1, !:(D)':' O~+isOPsH5
~,~~~m~31Tffl@;1R~:t:~ "

(A) CsHsCHO (B) CsHs
(C) CsHsCH3 (0) C6HsOC6HS

96. If a gas diffuses at a rate of one-halt as fast as oxygen, its molecular masswill be so
many times that of oxygen?
(A) 2 "",1 (Bl; 1'81

(C) 0·5 (D) 4
~ fcnm ~ qft.fctmur~ 'tit 3i'J'cffil\;f1 qft fcR:Rur•.~"il' 3U':it t, lit ~ 3f1~Cfi 'llR affeffill5f1 ct1
311'1fc1Cfi'llR llfiTfcmR"!fIT WIT ?
(A) 2

(C) 0·5
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97. Which of the following can be considered a redox reaction?

(A) NH4CI ~ NH3 + HCI

(8) 2NaOH + N02 + NO ~ 2NaN02 + H20

(C) Fe + 5CO ~ Fe(CO)5
(0) CO2 + 2NaOH ~ Na2C03 + H20
f.p:::J -ij ~ ~ ~ *~ l=JRT \lIT ~ % ?

(A) NH4CI ~ NH3 + HCI
(8) 2NaOH + N02 + NO ~ 2NaN02 + H20

(C) Fe + 5CO~ Fe(CO)5
(0) CO2 + 2NaOH ~ Na2C03 + H20

98. The peroxide linkage is not present in :
(A) H2S207
(C) 8a02
~3ilcrul~:S ~ ~ ~ ~ % :
(A) H2S207

(C) 8a02

(8) H2S20a
(0) HN04

(8) H2S20a
(0) HN04

99. Which of the following ions forms most water soluble sulphate?
(A) Ca2+ (8) Pb2+
(C) 8a2+ (0) 8e2+
f.:rl:;f. ~ -ij~, \lRi -ij ~ *~Ifiwt~i)(1,~ ~ % ?
(A)' Ca2+ (8) Pb2+

(C) .8a2+ (0) 8e2+

100. Of the following, the correct sequence of number of carbon atoms present in (a)
compressed natural gas (b) diesel and (c) petrol is :

(A) a > b > c (8) b > C > a
(C) c » a> b (0) a > cc- b
(a)m.~. \ffl. (CNG), (b)~q (c)~-ij dqf~<l~~aTICffn:f~(liT~~~:
(A) a > b > c (8) b > C > a
(C) c > a > b (0) a > C > b
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MATHEMATICS

[3 -1]1.01.h'werse of matrix 4 2 is the matrix:
"

(~)[~1 !]
'~"

[1/~ -1](8) t 1/2

1 [ 1 ;](C) 5 -2

1 [ 1 1/2]
(0) 5 -2 3/2

l02. Volume of the parallelopiped whose three adjacent edges are represented by the
vectors 21-3} , 1+l -k and 31-k respectively, is :
(A) 2 (8) 3

(~) 4 (0) 0
~~411l;q< ~~'"h{1<:f1,~"ffi";:ram:Ff~~:"ffi;r~ 21-3}, 1+ }-k ~ 31-k ~
Pt"t:'Rf l ~~ ~:
(A) 2
,(t:;) 4

(8) 3

(0) 0

H.•..Sl
3Q



103. Angle between two non-coplanar diagonals of a cube is :

--1 (1)(A) cos -
2

(8) cos " (~)

(C) cos-1 (~)

(0) tan-1 (~)

~ ~ <t ~ ::Rff 11dctl;q fcrcI:iuTI <t ~ CfiT ~ ~ :

(A) cos " (~)

(8) cos-1 (~)

104. Equation of normal to si + 3/ = 137 at a-point whose ordinate is 2, is :

(A) 6x- 2Sy+ 20 = 0 (8) 2Sx- 6y= 20

(C) 5x-6y=20 (0) Sx+6y=2

si + 3/ = 137 <t ~ f.q~ ~ 2 t 1R 3TI~ CfiTW-i1Cfl{OI ~ :

(A) 6x- 2Sy+ 20 = 0

(C) 5x- 6y= 20

(8) 2Sx- 6y=20

(0) Sx+ 6y=2

"
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-1 -1105. sec x+ cosec x=

(A) -1

(C) Tt/2
-1 -1

sec x+ cosec x=

(8) 0

(0) Tt

(A) -1
(C) Tt/2

(8) 0

(0) Tt

106. Sum of the coefficients in the expansion of (1 - x) 10, is:

(A) 0

(C) 10

(1 - x) 10 ~ ~ -ij~"CfiT <WT % :

(A) 0

(C) 10

(8) 1

(0) 100

(8) 1

(0) 100

~~ ~ ~ ~ ~
107. If Ax 8 = 0, A :;t: 0, 8 :;t: 0, then vectors A and 8 :

(A) are perpendicular to each other.

(8) are parallel to each other.

(C) angle between the two is n/4.

(0) are equal and opposite to each other.
~ ~ ~ ~ ~ .~

~ A x 8 =0, A :;t:O, 8 :;t:O, ~~ A -q:cr 8 :

(A) ~-~ ~ (1klClC( t I

(8) ~-~ ~ fj'wlHH t I
(C) ~ ~ "CfiTCfiTur nl4 % I

(0) ~ t ~~-~ ~fc:rcrfu'r t I

A-Set
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f\ t;
~ 'If'-.

'$<
y <:

: h'
t08.E~uatl()n of the plane containing the points (-1, 4, -3), (3, 2, -5), (-3, 8, -5) and

1,," .. '

(~3,2r1), is :

, ~y 2x...:4y + 3z = 1

(~ -4x+16y-12z= 0

(G) x+ y+z=O
,;::-

(0) 2X+ 4y.:..3z= 1
b-"i

ra~alf(-1 , 4, -3). (3, 2, -5), (-3,8, -5) ~ (-3, 2, 1)<it ~ ~ cwr CfiT*i1Oi1<:fl{01% :
;' ~;

1. ~L ~x)-4y+3z= 1
~'

(8:)' -4~+16y-12.z= 0

{~) x+y+z=Q
" '.I, '~ .;',-.

t9} 2x+4y-3z=1

•• 'llle val~eof tan x/8, is :

(A) ..·Ji-.1
t·;-' _, "

"'C} 1
ta~7tl8:CfiTl1R % :

, (A.} Ji ~:l',
(Gll'

:: "'>,:,:.)
't>- ,
., " ,~:

(8) J2
(0) 1/8

(8) J2
(0) 1/8

\'-',':..1'", _'. _ _ . _"

~10. ,$4m ot~he two roots of a quadratic equation is 4 and product of both roots is -12. One

, r.99tiS ..:
1'1;" ~:':'i: ";,

,.~} ~ (8) 6

t9} -:-6 (0) 4
r '- . ~,-_, .

il ~. r,~rdlq *i',.i1ch(OI ~ GFIT~ CfiT7:lFT 4 %~ ~ 1011 'he -12 % 1 ~ ~ % :
,'>'k" - "".',- ~-"

• _~ ~c - ,

'Hi (~)-4 (8) 6

(C') -~ (0) 4
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-I'lii "·""br~~·'n(IT"·".·1!·\~~li<.j"Si pa-

I r
\

";''-''''i

4i+s],,-i. if:

3"1'16,,
(A). 7'....ifJ,77jk

(8) 31;'2]+ •••.•i;.'
49 "4949

(C) - 31+1.. j-~k'
4l1/~9 49

(0) ~ •• !trl'(')and (C) ~. .)(, ,. (\ '/"

~;zi~-i1t5,.·!.ji4i+,3j- k ~ «q"(f.~ ~'a#r ~t'1+cq~ ~~Rltlf:,

.3i_.····.2;+6k..(A).., "7.( '7

(B) .!.1-~J+.2-k
4949 49

. .~!~;:.';'2....&; ..•
(el ~iif+~J-49k

(0) ~.(8tr(~(C)it fr'

-'. '

112. EquationOfaptarie passing>through (-1, 3, 2) and perpendlcalarsto th~}planes
x+ 2y+ 2%':::5 and ax + 3y +2z::;:8, is : ; .I)

(A) x+ '1- Z:; 1

(8) X.il;t}l7p!i>~~",A ,

(0) .2K~c" ';«"$::'

(D)2x-4y+3z+8~ 0
(~1•.3.2)~'!fat~~.~ x + 2y+ 2z::;: 5~ 3x+ 3y+ 2z = 8~ ('14¢4qk~ ·~:~4ICfi(OI
•. : ' t,,'~-!\:~ \ .. :

(A) x+y-z=1
(1)>, x+~·l· 0

~~~g~;.~::=(f.



I

113. ·If2i - pi + 6x-3p is completely divisible by (x- 2) then the value of p is :

(A) 2

(C) 4

. (8) -4

(0) 0

"lffu:2i - pi + 6x- 3p, (x- 2) it~: fcf~ it, m p CfiTl=JR~ :

W 2 (~ ~
(C)4 (0)0

114. Arcs of same length make angles 60° and 75° at the respective centres of two circles.

The ratio of radii of the two circles is :

(A) 6: 7·5

(C) 2: 1

(8) 5: 4

(0) 1: 1

Gl crffi -ij "Bl1R ~ ~ "i:ff'tf am ern ~ ~ 1R ~: 60° "Q;Ci 75° ~ q;)ur~ % IGf.:ITcrffi q;l

~anCfiT~~ :

(A) 6: 7·5

(C) 2: 1

(8) 5: 4

(0) 1: 1

115. The line y = mx + 1 is a tangent to the parabola i = 4x, if :

(A) m= 1

(C) m= 3

(8) m= 2

(0) m=4

~ Y= mx» 1 q<Ckllli = 4Xq;lm~m, ~ :

(A) m = 1 (8) m = 2

(C) m= 3 (0)m=4

••-81 A--Set
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116. Let u . v and w be vectors such that u + v'+ w = 0 .If 1u 1= 3, 1v 1= 4 and Iw 1;= 5 ,
-) -) -) -) -)-)

then u » v + v •w + w • u is:
(A) 47
(C) 0

(8) -25
(0) 25

-) -) -) -) -) -)

aT u.v+v.w+w.u %:
(A) 47
(C) 0

(8) -25
(0) 25

117. A force 2{ - J -I( acts on a particle of position vector 31+;2J -Sk . It e fs theangl~
between the two directions, then e is :

(A) cos" ~2
-1 9(8) cos J228'• 228

(C) cos " ~
17

(0) . -1 ( 1)Sin -
2

~q;ur~wmr~ 3{ +2J -sf( %111:~~ 2{ - J -k ~'%I ~·-zyrr,:qftmn3TI~
~CfiTuretaTe%:

-1 1(A) cos -
2

-1 9
() cos8 ../228

(C) cos " ~
17

. -1 (1)(0) Sin -
2
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I

.·.··.,•... i • 1+;1
118•."a1ueof 3 ...1--S·is :

.'(A) 2U5

(C) i

(8) 2/5

(D) i- 3

l+i f
3--;- 5 ~l:fAt:

(A) 2U5

(C) t
(8) 2/5

(D) t : 3

111.11 cot. x == -~ in the second quadrant then:

58
(A) see X=-9

(6)' secx=+~

Ie")' .•.. .KB\.·...·.secx == -..;..,..-
'3

;fl'
(PI .,ee J(= ~

. .... ...........•.. ..' 3
"~~I'if~ cot x= -7'0if:

58
(A) see x=--

9

(8) see x = + J58, 3

(.c)' see)( ::::r J5s,
( 3

i J7
(0...,'\.,'see x = ,.---. i :~

.. ,,- - '~,' " - .' .

' ••••• LL ••••• 56 A-Set
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120. If r= x- i,is a conic through origin, then this is:

(A) an ellipse whose centre is on the right of the origin.

(8) a hyperbola whose centre is.on the left of the origin.

(0) a parabola whose vertex is on the left of the origin.

(0) a parabola whose vertex is on the right of the origin.

<:@!: y=x-i~~it~CfR'IT~~~,w~:

(A) ~ ~ ~ ~ ~ 1<1f<i4i~ zy:ff CWfi t I
'.,;1

(B) ~ 31foqv:t<1l1 ~ ~ ~ 1<;1f<i40S)~ ~. CWfi ~ I

(C) .~ Q<CI<1l1 t ~ ~ 1<1f<i40S)~ ~ CWfi ~ I

(0) ~ Q<CI<1l1 l~ ~ 1<1f<i40S)~ zy:ff ..~ ..~ I
t :" >,

121. Equation of conic in OXY plane, which touches the axis x = 0 and y = 0, at distance 3

from the origin 0, is :

(A) 3i +31= 1

(0) 2i + 31 = 1

2 2
(8) 3x + 2y = 1

2 2
(0) x+y-6x-6y=9

OXY ~.q 1<1f<i40S)0 it 3 CfiT~ 1R alan x = 0 "ij?l'[ y = 0 cn1~ ~ c.rffi ~ GfiT fl41Cfl(1J1

~:
2 2

(A) 3x + 3y = 1

(C) 2i + 31 = 1

2 2
(8) 3x + 2y = 1

2 2(0) x+y-6x-6y=9

122. From a position on a bridge which is 30 metres above the level of a river, angles of

depression of the two opposite banks, are 45° each. The width of the river is :

(A) 60'metres (8) 30 metres

(C) 100 metres (0) 75 metres

~~~~·~~it30~~t~~~it~awR-~~~~~Cfi1ur

45° ~ I -.¢T CfiT~ ~ :

" (A) 60~ (8) 30~

(C) 100 liR:< (0) 75 ~



123. One of the two geometric means between 3 and 192, is :

(A) 81 (8) 27

(C) 48 (0) 16

3~ 192 ~ Gfrq ~ :rTIm ~~ if "fr ~ ~ :

(A) 81 (8) 27

(C) 48 (0) 16

124. Projections of a line on the axes of frame OXYZ, are 2,3,4, respectively. The length

of the line is :

(A) 9

(C) 29

(8) J29
(0) 3

~ WT Cfl1 OXYZ ~ ~ alan 'tR >ra)"rif C!ft <1lO€4l$lfi~: 2,3,4 t IWT Cfl1 ~ t :
(A) 9 (8) J29
(C) 29 (0) 3

125. Equation of the plane passing through the point (2,3,6) and is right angles to a line

joining this point with the origin, is:

(A) 2x + 3Y + 6z = 49

(8) 2x +3Y + 6z = 7

(C) 2x +3y +6z = 343

(0) x + y + 6z = 1

~ (2, 3, 6) "fr ~ ~ ~, \lll ~ ~ ~ 'i('1f~~ Cfi1 fiwrR crrffi ~ ~ <1lO€4C1~t Cfi1

B41Cf1,(ol ~ :

(A) 2x + 3y + 6z = 49

(8) 2x + 3Y + 6z = 7

(C) 2x + 3Y + 6z = 343

(0) x + y + 6z = 1
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126. Y= 1, z==2 represents a straight line, which is :

(A) parallel toj-axis

(8) paralleltoz-axis

(C) parallel to x-axis

(0) perpendicular to x-axis

}' = 1 " Z = 2 "tfcfi ~ ~ CfiT f.1~fYdCfi«IT ~ ~ :

(A) y-a:r~~ '8I4Hi<i'(~ I

. (8) .s z-a:r~ ctfll4HicK~ I

(C) x~a:r~ctfll4Hit1{ ~ I

(0) x-a:r~ ~. et14C1<t.ll

~ ~ .' .
127. Two vectors a and b act at a point 0 such that angle between the two is 1t/3, and

both vectors represent the two adjacent sides of a parallelogram, then the resultant

vector willbealong:

(A) anyone of the two diagonalsof the parallelogram

(8) the diagonal passing through 0

(C) anyone of the two other sides of the parallelogram
~

(D) one side parallel to the vector a , of the parallelogram

Gl~ -; -qci b ~ 0 1R..~ w.m Cfi17fuf~ fcnGFU·~·~ CfiTCfiTur 1t/3 ~, -qci -zyn~: ~

'8RI1 H't'( ~~ CIilGl ~ ~a:n CfiT f'1{C\fy('t ~ t "ffil qRollifj. ~ ~ m-rrr :

(A) flRI'1I.~<~~ .~. -zyn~ -B. ~fcnm ~ ct ~

(8) 0 ~ ~ .:~ fcrcnuf ct ~

(C) '8RI11'"{'1{ ~~ CIilaA -zyn~3lf -BM~ ct ~
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128. If sin 2x - sin 4x + sin 6x == 0 then values of x are:

(A) x = (2n + 1) 1'[

1t
(8) x = n t:+-

2

1'[

(C) x=2n1t+-'-
2

1t
(0) X = n« ±-

6

where n=O, 1,a, .

~ sin 2x- sih4x + sin 6x =:0 ~ x.:cfj J:fRt :

(A) x = (2n +1) 1'[

1t
(B) x = n« +-

2

11:
(C) X = 2n11:+-

2

11:
(D) x = n11:±~

6

~ n=O, 1,2, ,..v

129. Polar equation r= 2 COS 8 represents':

(A) two straight Una's (B)anarb.itrary curve

(C) a circle of radius 1 (D) a circle of radius 2

~ ffl.fli!fi(oj r = 2 cos e f~(i:\MdCfi"«tT ~ :

(A) ~~~

(C) 1 ~~~Cft

(8) ~~~

(D) 2·~ CIR11 ~ ~

A~Set
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130. Fbt a matrix 3 -1
4 6

°l ' ! ,

5 ,the skew symme,ftlc mJfrix is :
1 ' '

[;
-1 -2 ] fO -2 -4]

(A) 0 -~2 (Et) 2 ° -1

1/2 4_ 1 0
--,"

l~1 1

1~2l l+
1/2 5~2lt .

-1/2~ (C) ° 0'
-2 -1/2

(J
3 112

[
2 1 0] ,

~ ~ 3 -1 5. %gmtr BlOlfl:lfct ~t:
4 6 1:

[;
-1 -2 l r; -2 -41

(A) ° -~2 (ay 0 -1

1/2 1 oj

[~1 1

1~2] H2
1/2 5~2](C) 0 (D) -1/2

-2 -1/2 '3 112

131. Sum of 10 consecutiveodd numbeH;:Startip'g from 1, it :
(A) 401 (ta) 1'00'

(0) 1001 (D) 301'

1~~~.~ 10~-m3ltq;r~~:

(A) 401

(C) 1001

(8') 10'0

(0) 301
!',.---.-: ti.- mf I



. ~ " " " ~ ." " "
132. Projection of vector A = i - 2j + k on another vector 8 = 41 -4j + 7k , is :

(A) 19/16

(C) 19/9

(8) 19/6

(0) 9/19
~ ~

~ A = 7 - 2J + k CfiT~ ~ 8 = 47 - 4J + 7 k 1R >r~ % :
(A) 19/16 (8) 19/6

(C) 19/9 (0) 9/19

133. Angle between the two straight lines given by i -7xy+ 121 = 0, is :

•1
(A) 13

(8) tan-
1
(1~)

(C) tan-1 (;)

(0) cos " (1~)

1
(A) 13
(8) tan" (1~)
(C) tan-1 (;)

(0) cos " ( 1~)
H+81 131GRALL-page-62
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134. In the expansion of ( x 113 - 2:2J, the middle term is :

(A) ~2X> (8) 5 5/3--x
2

5(0) --2x5

(A) -2X> (8) - 5 x5/3
2

5
(0) - 2x5

(C) 6: 5 (0) 7: 6

H~81;

135. At a point angle between two vectors of magnitudes 2 and 3 is 60° ,then magnitude of
the resultant vector is :

(A) J19
(C) 5

(8) J7
(0) J13

~ ~ 1R 2 ~ 3 qfhilul ~ G1~ cf; ~ 60° CliTCliTort m qf{ull41 ~ CliT-qftqrar t- :
(A) J19 (8) J7
(C) 5 ,. (0) J13

136. Ratio in which line joining (3, 5, 6) and (4, 6, -5) is divided byxyplane, is :

(A)1:3 (8)5:4
(C)6:5 (0)7:6
(3,5, 6) ~ (4, 6, -5) cmf1:RiRcrrmmCf?t xyCffi~ ~~~, ~t-:
(A)1:3 (8)5:4
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137. The coordinates of a point of trisection of the line joining (1, -2) and (-3, 4), is :

(A) (-~,2J (8) (~,O)
(C) (_ 5 ~) (0) (-~,-~)3'3

(1, -2) ~ (-3, 4) Cfi1~ -qrffi ~TCnT f-i~"Cf'iB ~ ~ ctr1~~liCfl ~ :

(A) .: 2) (8) (~,O)
(C) (_ 5 ~) (0) (-~,-~)3'3

138. Angle between two lines whose direction cosines are given by 21+ 2m - n:: 0 and
mn + 1m+ nl = 0, is :

(A) 11:

4
11:

(C) 0 (0) 2

G) ~ ~ ~ Cf)"'1\T4Ilf 21+ 2m - n = 0 ~ mn + 1m+ nl = O·~ ~ m, ct ~ CliT"Cfllur
t-:

(8) -
3
11:

(A) 11:

4
(C) 0

11:
(8) 3

(0) ;

139. The degree of ordinary differential equation
. ( ,,)2 5( ,)3 6 3 xY - Y + xy =e,

is:
(A) 2
(C) 4
m~ 3"1qCfl(,11 fll·:f) Cfl<0 I

(8) 3
(0) cannot be determined

cn1 emf t- :
(A) 2
(C) 4

(8) 3
(0) ~ ~ ctt \lIT ~

HJ:-..Bl 131Gf,lALL-pa~



140. The value. of 1= .6/4 109(,1+ tan9)d9, ls ;

(A) 10ge2

1t(8) 8

1t
(C) 8'0ge2

r/4
i I==.b 109(1+ tan9)d9 CfiTl1At :

(A) 10ge2

1t
(8) 8

1t
(C) -= 10ge2

8

1t
(D) 2'0ge2

141~Using mean value theorem on (x):: ~25 - x2intheet08edi?tervafr~3 •.~J,~ v~~ "
, t,..":/'

.~"'(~;)ofe, is:

(A) 1/2 (8) J2.
(D) ±..J212(C) 0

(A) 1/2

(C) 0

(8) 12
(O)±4212



142. The root of f (x) = 0 is obtained in the least number of iterations, in the:

(A) Secant method

(C) Regula-falsi method

(B) Newton-Raphson method

(D) Bisection method

f (x) = 0 CfiT ~ Cf1l1 it Cf1l1 ::i1'l11f"ctlO if ~ mar t :
(A) -:qrq fcJf~if (B) ~--"{TtRR fcJf~if

(C) ~- ~ fcJf~if (D) fufcr~ fcJf~if

143.3 cards are drawn from a pack of 52 cards, each card being replaced before the next

one is drawn. The probability that all the cards are red, is :

(A) 9/52 (B) 1/8

(C) 1/2 (D) None of these

52 ~ ~ ~ ~ it 3 ~ ~ "\l'fffi t~ 11\fT :wJffi 11\fT f1Ch 1<1~ it crre ~ ~ \lfRIT t I ~~

~ ~ mrt,- CfiT $11fll ctH'l1 t :
(A) 9/52

(C) 1/2

(B) 1/8

(D) ~it~~

144. Y= cos x+ sin xis a:

(A) general solution of an ordinary differential equation (ODE) of first order of linear

nature

(B) general solution of an ODE of second order of linear nature

(C) particular solution of an ODE of first order of linear nature

(D) particular solution of an ODE of second order of linear nature

Y= cos x+ sin x~:
(A) "5r~ ~, ~ ~'qJCf ~ ~ m'l:l"R"UT 3'lqCh<11 fl41Ch'lOI CfiT m'l:l"R"UT @ t
(B) ~ -cnlR, ~ ~~ ~ ~ m'l:l"R"UT 3"\qCh<11 '8'1ICh'lOI CfiT m'l:l"R"UT @ t
(C) "5r~ -cnlR, ~ ~~ ~ ~ ~ 3"\qCh<11 fl'lICh'lOI CfiT fcm"q @ t
(D) ~ -cnlR, ~ ~~ ~~m~ &iqCh<11 fl41Ch'lOI CfiT fcm"q @ t

H,•...8t··
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145. If ~x) = i -4x + 3 = 0 has onerootln the clessdinterval [0, 2:5] then that root liesin the
interval:

(A) (1.62,2.5) (8) (0,0.6)

(C) (0.6, 1.25) (0) (1.25, 1.62)

<:Jfu: ~X) = i -4x + 3 = 0 q;r~ ~ ~ ~ [0,2.5] -ij ~~ sm+wta:kroB :

(A) (1.62, 2.5) -ij t .(8) (0, 0.6) -ij ~

(C) (0.6, 1.25)if t (0) (1.25, 1.62) if t

146. Value of 1= 1 log x2 dx , is :

(A) -2 (8) +2

(C) 1 (0) 0

I= 1 log x2 dx q;r l1R t :
(A) -2 (8) +2

(C) 1 (0) 0

147. Rolle's theorem does not apply on f(x) = {x2 0 s;X s 1, because:
2-x t c x s z

(A) ~a);t ~2)

(8) ~x) is not defined at x = 1

(C) ~x) is not differentiable at x = 1

(0) f(x) is not continuous at x = 1

f(x) = {x2 cjs; X s; 1 ~ ~ m;:fflf ~ mm t~ :
2-x 1<xS;2 .

(A) ~a) ;t f(2)

(8) f(x), x= 1~-qft~;:fflf t
(C) x = 1 ~. f(x) 3iqCfl(141~ ;:fflft
(0) x = 1~ f(x) ~;:fflf ~

,
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148. Area of segment cat off from the parabola 1=2xby a lineY3:: 4x-1,is:

(A) 9/32

, (C) 0

(8) 7/9

(0) 4

(A) 9/32

,(C) 0

(8) 7/9

(0) 4

149. A box contains 7 tickets, numbered from 1 to 7. If 3 ticket$ are<f. from the box,

then the probability that they are alternatively either odd, even. odd or .even! odd,

even, is:

(A) 4/35

(C) 7/2

(8) 217

(D) cannot be.determined

~~-ij 1 ~ 7 aicf;l qJffi 7 w.g ~, ~3 ~ r.•q;,<?fl ;;mfiilPlt~.t(tfri~·~"-mltT~,

'Wi, fc~'S'l:P:lT'Bll, ~, 'WiJ QT, Cfil Silf4Cfldl t :

(A) 4/35

(C):7~g

(8) 217

(0) ~ -mCfft-."O'riT

150. If ((x) = 0 has a root in an interval (a, b), then:

(A) ((a) <0, ((b) <0

. (C) ((a) f{~ ~;vQ'

(8) f(a} > 0, f{b) > 0

(P) None of the$8

~ ((x) = 0 Cffi~lFf ~ (a, b) .qt~:

(A) f(a) < 0, f(b) < 0

(C) f(a) f(b) < 0

(8) f(a) > 0, f(b) > 0

(0) ~.~.~ .••~.



(A) Rs. 500
23

(8) As. 25

:"~4
.• ' I" ~

,"..e-:

- . dy Y 30'151. General solution of 2-d +-+ Y = IS:" x X
2 ex(A) xy = e
1 x2

(8) -=ce
xy

2
(C) X = cexy

2
{O) X = ce1/(XY )

Where c is a constant.

2 dy + y +y3 = 0 q;y ~ m'f t :
dxx

2 ex
(A) xy = e

1 x2
(8) -=cexy

2
(C) X =cexy

2(0) X = ce1/(xy )

~ c~ affi"Ufutl

152. The odds are 23 to 2 against a person for winning As: 500. His·expectatiOn
• _. - - -- _; _".~ :" _,"..,', I

v ' -1,000
(C) Rs. 40 (0) As; 23 _
~ 311Glft ~ 500 ~. ~ Cfft qR~Fcp~i23 ~ ljChI~A~ qfrfl~~~l~i~,~11f~n)

500
(A) 23~' (8) 25~.

(C) 40~. (0)
1,000
23~'

A-Set·



153. Absolute maximum of f(x) = 2/ -7x-10, in the closed interval [-1,3] is:

(A) -1 at x = 1 (8) 1 at x = -1

(C) 3 at x = 3 . (D) °at x = °
• . ~ 2 f, ~~ ~ [-1,3] Pi f(x) = 2x -7x-10 CfiT'Rli d -6'tlbd Q :

(A) X= 1lR-1

(C) X= 3lR3

(8) x = -1lR 1

(O)x=OlRO

~. 3
154. Area bounded by the curves y = x and y = JX is :

(A) ° (8) 5/12

(C) J5 (D) .J12
~y=iwi y=JX ~~~CfiT~~:

(A) ° (8) 5/12

~) J5 (~ .J12

155. The feasible region of the problem

Minimize and Maximize Z = 3x+ 9y,

Subject to x+ 3ys 60, x+ y~ 10, x-: y, x e 0, y~ 0,

has corner points:

(A) (0, 10), (5,5), (15, 15) and (0, 20)

(8) (10,0), (5,5), (15, 15) and (20,0)

(C) (10,0), (5, 0), (15,0) and (20, 0)
I

(D) (10, 0), (0, 5), (0, 15) and (20, 0)

x+ 3ys 60, x+ y~ 10, x-: y, x~ 0, y~ O-mTIlRZ = 3x+ 9yCfiT m~Cf)(1JOOI)Cf)<olen4:'1(14)Cf){OI

<fl1~~~ ~~qM~~~:

(A) (0, 10), (5,5), (15, 15)wi (0,20)
(8) (10,0), (5,5), (15, 15)wi (20,0)
(C) (10, 0), (5, 0), (15, 0)wi (20, 0)
(D) (10,0), (0, 5), (0, 15)wi (20, 0)
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156. T~e value of I
, 2(1/2-th)3_2(h)3"
irn ,IS,

h~oh
(8) 3/2

(D) 2/3
(A) 1
(C) '0

I
, 2~1/2+h)3_2(h)3~1m· CfiT-qr;:r 'Q :

h~O h
(A) 1

(C) 0

(8) 3/2

(D) 2/3

157. Solution of : = eX
-
Y + x2e-Yts :

(A) log xy= c (8) log (x+ i/) = c

x3(0) eX-Y =_+ec
3

x3
(C) eY = eX + - + eC

3
Where c is a constant.

: = eX
-Y + x2e-Y CfiTm1% :

(A) log xY= c (8) log (x + eY) :: C

x3(C) eY = eX +_+ec
3

~C~~~%I

158. The value of I == r: 1 x + 11 dx , is

(A) 2

(C) 5

I= r: 1 x + 11 dx CfiT-qr;:r % :

(A) 2

(C) 5

(8) 3

(0) 1

(8) 3

(0) 1

A-Set
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159. Order of ordinary differential equation

(y") + JX y' + sin y = 0
is:
(A) 1/2
(C) OC)

m'l-:nruT 3"1q cf)(?f1 fi lOOn Cfl{Ol

(8) 2
(0) 1

(y If) + JX y' + sin y = 0

qfr CfiTfG t :
(A) 1/2
(C) 00

(8) 2
(0) 1

160. Value of 1= £/2 cos" X dx , is :

35n
(A) 256

n
(C) 2

35n
(8) 64

2(0) -
n

1= £/2 cos" X dx CfiT l:JR t :

35n
(A) 256

35n
(8) 64

rt
(C) 2

2(0) -
n

161. 9 tickets, numbered from 1 to 9, are in a box ..2 tickets are drawn at random. The
probability that one is even and one is odd, is :
(A) 5/18 (8) 5/9
(C) 1/36 (D) None of these
9 ~ ~ 1 'B 9 CfCf) ~ t~~ ~~1 41~f~ clR 1R 2 ~ Cf>1 f'i<tiI<'H \ifR1l t-I ~ W1
~ m ~ ~ fc;rsr1:r ~ CfiT WR: m, qfr SIIf4CflCl1 t :
(A) 5/18 (8) 5/9
(C) 1/36 (0) ~ 'B ~ '%1
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182. thE\yalue(s) of xfor which tangent lines of Y= sin x and Y= cos x, are perpendicular,

is(ar~) :
"

(A) ~\=1t (8) x = 1t/2

(C) n~such value of x (0) all values of x

x~ l1J'il, m en: y= sin x~ r= cos xcn1 ~ ~ (1kfCjCi, ~ :

(A) x = 1t ~ (8) x = 1t/2 ~

(C) xGfiT ~ CfiW l1A -;:@ ~ (0) x~ ~mlWff en:

183. Theproba,bil\ty that a digit chosen at random from the digits 1,2,3, 9, is a multiple

of3, is:

(A) 1/3

(C) 1/5

(8) 3/10

(0) 4/9

. aicf,l1,2,3, 9, ~ ~ ~I~f-iij(f) ~ ~ ~ ~ CliTwR qftglF4Cfidi i~ 'Cffl'~3 GfiT ~

m:
(A) ·1/3

(C) 1/5

(B) 3/10

(D) 4/9

164. Let Xo be a root of f(x) = O.Then at each iteration,tofindthe root by Newton-Raphson

method:

(A) tangent approaches towards Xo

(8) the chord joining two points approaches towards Xo

(C) the maximum value of f(x) approaches towards Xo

(D) the minimum value off(x)approaches towardsxo
'J:fA~ fcfi xo' f(x) = 0 CfiT ~ If'T ~ I ~ ~-w:RR M~~ If'T ~ ~ ~ ~ 9)1<11F'1
~:
(A) ~ nm Xo cn1 am 3mft ~
(8) ~ ~:m CliT~ qffif :qlq~(§jtxocn1 3W 3mft ~
(C) f(x) CfiT 3lf~ l1R Xo ~ ~ mm ~ ~
(0) f(x) GfiT~ llR xott ~ mm \lfTffi ~
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, 3x+2
165. 11m r=:': is:x---,,-oo '\j x2 -1

(A) - 00

(C) 3

I, 3x+2
trn ~t.

X---,,-oo '\j x2 -1 .
(A) - 00

(C) 3

(8) 1
(0) -3

(8) 1
(0) -3

166. Value of 1= 1~~:;dX,is:
(A) 1

1t
(8) -+ 1

2

(0) -1
1t

(C) --1
2

(A) 1
1t

(8) - + 1
2

(0) -1
1t

(C) --1
2

dy 2y , ,
167. The general solution of -d +- = smx , IS :x x

2 2(A) yx = c - x cos x

(8) y/i = c+ 2xsin x+ 2

(C) 2 2 2' 2yx = c- x cos x+ XSin x+' COSx

(0) y/i = c- i cos x+ 2xsin x+ 2 cos x

dy 2y , . ~
-+-=slnx CfiT~W1Q:
dx x

2 2
(A) yx = c - x cos x

(8) y/i = c+ 2xsin x+ 2

(C) 2 2 2' 2yx = c- x cos x+ XSIn x+ COSx

(0) y/i = c- i cos x+ 2xsin x+ 2 cos x
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168. f(x~= i -ki + 2xis an odd function for:

(A)K= 0

(C) k:'F +1

f(x) =i- /0(2 +2x~~1:.fiffi~:

(A) k=O~

(C) k= +1 ~

(8) k=-1

(0) all values of k

(8) k=-1 ~

(0) k ~"B~ llAl %g

169. A man holds 2 of a total of 20 tickets in a lottery, If there are two winning tickets then

the probability that he has both the winning tickets, is :

(A) 1/190

(~) 2119

(8) 1/10

(0) None of these

~ ~."ffic:it ~ 20 W-f;if "# ~2 ~ u§ g;it ~ I ~ 2 ~ ~ CfR'iT ~ ~ ~ ~ iffi1 GFn

~ 'CI'R'ft ~ t Cfft ~ If~Cfidlt :
(A) 1/190

(C) 2119

170. The value of 1= f ~(x - 2)(1- x) dx, is :

(A) 1

(C) n/8

I= r .J (x - 2)(1- x) dx q:;Tl:n~t :

(A) 1

(C) n/8

(8) 1/10

(0)· ~~~-m

(8) 0

(0) n/2

(8) 0

(0) n/2

A,...,Set



171. Eight coins are thrown simultaneously, th'eprobability of getting at least six heads,

is:

(A) 17/356

(C) 11/24

(8) 37/256

(0) None of these

(A) 17/356

(C) 11/24

(8) 37/256

(0) ~~~~

d .
172. dx I x I is equal to:

(A) 1 (8) lx]
x

(C) -1 (0) None of these
d .
dxlxl~t:

(A) 1 (8) Ixl
x

(C) -1 (0) ~~~~

173. In the problem, to Minimize Z = 3x+2y, Subjectto x+ y~ 8, 3x+ 5ys; 15, x~O,y~O:

(A) the feasible region is convex

(C) the feasible region is concave

(8) there is no feasible region

(0) the feasible region is an open region

x + y ~ 8, 3x + 5Y s; 15, x ~ 0, y ~ 0, em-mfl·."RZ.* 3x + 2y q;r ,"\1atfiCfl,(OI ~ q:ft. ~
-B:

(A) ~~~t
(C) ~~~t

(8) ~~~~t
(0) ~~~~~t
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(8) 0

(Dr rt18

(A) eo

(C)····W4

(8) 0

(D)1t/8

175. exl2(eoSg+ sin x) is a solutionof whiCh of,":>~OOE1

(II· .~y"~"Y'+5y= 0, , +' ;;,1 . ':," l'.

(0) Noneof these
- :

eJd2·~"+.*,''-'~~IJ4ft;t~.,,it·t~_il4~''jt;·t''.~'''Ifi(Oi~ t :
~. . . " ." .'. . ..,: !"-.' :..':'~ ';,' r,-·.·· ,~. . " ..- ;:'-'" '.' '." :" -__, -.' . --.. :' '-'.'-' .... :' -:,,:.' '. :-," . . "~',

(A) y'; - y' + SY= OGfiT ~) 4~"~4Y' +S~.=::P?f;l
(C) 4y"-6yt+i::01fll(t» ...,~1fftf""

-< ;....:. (-" -."

"

(C) .4y"":':5y' + Y= 0

-',''V 4

named,eechdr"onebaUand'(k)esnotreptecflit. The first to draw a.white ball
/i~~/'!~~~:-~:;"5r::'~-~"~

r~~'~'tU':"""'.J(pctCtatiOn<lf .• iI:·'~~I./~;.·.,·'ji
(A) As. 9.00 (8) Rs.2.00

(C)fta.3.0() .'··(O)A8. 4.00

~ trr ~2<~~3 ~ ~ fr~ ~j"·:"";A,'.'C;D, .q,.~~ ~ iiG
,~~;' -,

(A) 9.00•.

(C);'3 .••.

(9) 2.00:•.
(OJ, ••,,jIJ,,.
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177. When perfect correlation exists between two variables, then the value of r. is:

(A) 0 (8) 1

(C) -0.75 (0) None of these

~GlT:fU~~~ f1EHikll~mm%'m r'CfiTl:fA" ~ :

(A) 0 (8) 1

(C) -0.75 (0) ~~~~

dy y-x+1
178. The general solution of dx = Y + x +5 ' is :

(A) ~x2 + y2 -4x-9y+13 =ce-tan-1{(Y-3)/(X-2)}

(8) x2 + y2 - 4x - 9Y + 13 = c Y - 3
x-2

(C) (x + 2)2 +(y + 3)2 == c(x - 2)(y - 3)

(0) (y_x)2 +(y+x)2 = 26c

Where c is an arbitrary constant.

(A) ~ x2 + y2 _ 4x _ 9y + 13 = ce-tan-1 {(y-3)/(x-2)}

. 3
x2 + y2 -4X-9y+13=c ~

x-2
(8)

(C) (x + 2)2 +(y + 3)2 == C(x - 2)(y - 3)

(0) (y - x)2 + (y ~ x)2 == 26c
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179. Y = VX, may be used to separate the variables in which of the following ordinary
differential equation ?

(8) dy = 2y-x
dx x

dy x - Y dy .x2 + y2
(C) dx = x2 + y2 (0) dx = x _ y .

y = vx cnT ~ tR ~q;) 31WT ~ ~ fi""1f(1f&d ~ fcrR;r~ ~ fltfiGfl'(U1 ~ fcn1;n\iff
"W-fiffi t ?

dy = x2 + y2 ~
(A) dx x2 _ y2 +1

dy x-y
(C) dx =. x2 + y2 ~

(8) dy = 2y-x ~
dx x

dy = x2 + y2 ~
(0) dx x- y

180. Value of 1= £/4 sec4e de, is:

(A) 4/3

(C) n13.

1=£14 see" e de cnT~ t :
(A) 4/3
(C) nl3

(8) 2/3 n
(0) nl2

(8) 2/3n
(0) nl2

181. The probability that the average student will not complete 4 years of college is 1/3.
The probability that of 4 students at. least 3 will complete 4 years of college, is :

(A) 16/27 (8) 1/2
(C) '314 (0) 213
~ "fIT'tlRUT~ q;) ~ ~ ~Cf5i ~ ";f ~ <tt SUf4Gfldl 1/3 t 14 m~Cfil1 ~ Cfil1 3~ 6JU
~ ~ ~ Cf5i ~ ~ <tt !iilf4<:f1dlt :

(A) 16/27
(C) 314

(8) 1/2
(0) 213.
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1 dx .
182. I = f1 1- x may be evaluated by :

(A) Trapezoidal rule
(8) Simpson's rule
(C) Both Trapezoidal and Simpson rule
(0) Neither Trapezoidal nor Simpson rule

1=r1
dx CfiTl1A~~~~t:

1 1-x
(A) ~q\3lf~'5C1 fcml ~
(8) f~A+t1fcrf~ ~
(C) GFffm ~q\3lT~'5C1~ fffAl~1 fcW.T~
(0) ";f m ~q\3lf~'5C1 fcrf~ ~ am: ";f fffAl~1 fcrf~ ~

183. f(x) = i - 6x + 5 is positive for:

(A) x>1,x<2 (8) x s O, x<4

(C) x<1,x>5 (0) x>1,x<5

f(x) =i-6x+5 ~t:
(A) x>1,x<2%q (8) x » 0, x<4 %q
(C) x<1,x>5%q (0) x>1,x<5~ ~

184. General solution of (x + y)2 : = 1, is :

(A) y=,-x + tan (y- c)

(C) tan (x + y):;: C

Where c is a constant.

(8) x+ y=tan c
-1

(0) tan (x+ y) = c

(x+ yf dy == 1CfiT~ret:dx ....

(A) y= -x + tan (y- c)

(C) tan (x+ y) = c

~ c, ~3F-R-umtl

(8) x + y=.tan c
-1

(0) tan (x+ y) = c

tf-ill 131GAALL-Page-80 .
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185. Value of I == t x ~4 - x2 dx, is :

(A) 0

8
(8) 3

3(C) --1t
4

(0) -8

I = .b x ~4 - x2 dx cfiP::rR t- :
(A) 0

8
(8) 3

:186. If (x) ~ {XSin

k

(:) , x * 0

, x=O

is continuous at x = 0, then the value of k will be :

(A) 0

(C) 1

(8)" 1/2

(0) None of these

. {XSin(]..) , X:;to0
~ f(x) == k x

, x=O

x = 0 1R ~ t-,m k CfiT l:fR mrrr :

(A) 0

(C) 1

(8) 1/2

(0) ~~~~
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187. In the interval [0, 1], the function i5 (1 - X)75 is maximum at which of the followihg
point:
(A) X= 1
(8) X= 0
(C) X= 1/4
(0) X= 1/2
a:RR'R1 [0, 1] if"tfi(i'R X

25 (1 - x) 75 CfiT af-cq6(3l1R R"'1fC"lrnm if "it ~ ~ en: ~ ~ ?
(A) X= 1
(8) X= 0
(C) X= 1/4
(0) X= 1/2

188. The solution of the differential equation x log x: + y = 2 log x, is :

(A) y = log x + ce-x, where c is arbitrary constant

c
(8) Y = log x + log x ' where c is arbitrary constant

c
(C) y = eX + x log x ' where c is arbitrary constant

(0) None of these

dy
~ fl41Cfi<OI x log x- + Y = 2 log x CfiTm1 t- :

dx '

(A) y = log x + ce-x, ~ c ~fi3Cfi 3reR t-

(8) Y = log x +_c_ ~ c ~f~Cfi am t-
log x '

x C • ~ ~
(C) Y = e + x log x ' ~ c fi3Cfi am Q
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189. TVvoC;Qofqshaving same eccentricity, may be :
. , ,.'J~:'~ ,; '~;.-~'., '.'<:'

(AJ tlyperpola and parabola

(~) 9yperbola and. ellipse

(C~ nyperbo!a and its conjugate hyperbola

H;» parabola and ellipse

~ d~'"$i(11 cn#t~~m~~:
..• .- ,'.( .. .

(A)3lrn4{Clct{4t[cf Y<CI€1lt .

'(~) 3lfdq{~ftll.1fci ~

(C) 3lrnq,(Clftli ~ ~ ~ 3lrnq,(Clftli

(0) q,(C!c14~ ~

190. The curve passes through origin, is:

(A) Y= tan x
(8,) Y= see x
(C) :Y= cot x.
(D) Y= cosec x

.~ .•~ ~;~ qJffi.Cf9n~ :

(A) Y= tan x
(6) y= secx

(C) r= cot x
(0) Y= cosec x

191. 4 boys and 4 girls are arranged to sit around a circular table in such a manner that one
girl be seated between two boys, this can be done in :

(A) .48.ways (6) 144 ways

(C) 24 ways (0) 12 ways

4:~ ~ 4ct'?fch41~ InftG'lI ~ T.fRf 3W~ ~ ~ \jffiTI ~ ~ GTm.CfiT ~ ~ ~ ~
~I ~. F:nirr 'ffl .••.~ ~:'
t :

(A) 48~-B. (6) 144~-B

(C).24.~-B (0) 12~-B

H~81
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192. A • (A xC) =

~
(A) A

(8)
~.

8
~(C) C

(0) 0
~ ~ ~
A· (A x C) =

~
(A) A

~
(8) 8

~(C) C
(0) -0

193. Angle between the lines (3x+2y+z=5,x+y-2z=3) arid

(2x- y-z= 16, 7x+ 10y-8.z= 15) is:

(A) 1t/2

(8) rc/3

(C) 0

(0) 2rc/3

man (3x+ 2y+ z= 5, x+ y-2z= 3)~ (2x- y- Z= 16, 7x+ 10y-8z= 15) ~-aftqq,toy
~:
(A) 1t/2

(8) 1t/3

(C) 0

(0) 21t/3

H-S1
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194. Equation of a conic of eccentricity 12 and the distance between two foci being 16,

is:

(A) 3; - 2; = 16

(6) 2i + 31 =4

(C) ; + 1=32
'2 2

(D) x - Y = 32
12 d~~(fj~~, f;mcfftG1~~~.'c#t~ 16 ~,'Cf)ffl41Cfj{OI ~:,

(A) 3'; - 2; = 16

(8) 2; +31 =4
2 2(C) X + Y = 32

(D) ;-1=32

195. Which of the following curves has domain -00 < x-« + oo?

(A) y= sec -1 x (8) y:::.cof1 X

1 -1(C) y=sin-" x (0) y=c()s x
f.p:;:r ~ ~ ftflB ~ em 1Jkr -00 < X <+ oot ?

-1
(A) y= sec x

. -1(C) y= Sin . X

~1
(8) r= cot X

-1
(0) y= cos x

196. Three persons are to be selected from 15 persons in such a way that one particular

person is always selected and two special persons should not be selected at all, this

can be done in :

(A) 48 ways (8) 11OwfJ.y,~

(C) 66 ways (0)220 ways

tS~.q 3 ~~>rCf;R~~ tfq;;~~~~~ m~ 2 fcltrISf~~m
~ ~ it, 0iJ· ~ fcf;trr \jfl ~ t :
(A) 48 m~ (8) 110 m-B
(0) 66 m~ ,(D) 220 m~



~~ .~~ ~~
197. (A x 8) • (8 x C) x (C x A) is equal to:

(A) square of a parallelopiped's volume whose adjacent edges are given by the
~. ~ ~

vectors A, 8, C respectively.

(8) square of area of a triangle, having position vectors of its vertices as A, B, C
respectively.

(C) square of area of a parallelogram whose adjacent sides and the diagonal, arer. l'~ .. ',
~ ~ ~

given by the vectors A, 8, C respectively. ,
s-

(0) square of area of a hexagon of whose three sides are represented t;>ythe'~ectors
,

~ ~ ~
A, 8, C respectively.

~~ ~~ ~~
(A x 8) • (8 x C) x (C x A) ~ ~ :

(A) ~ fjlil1l~{ 1SI~Lf)(1Cfi cfi 3WfcRcfiCflfcfi, ~ am:R~~: ~~ l, B, C
&m f.=j'@\Md ~ \lfRt % I ', ~-

~~: ~.
(8) ~ f,r~ cfi ~ cfi Cflf cfi, ~ m cfi Wlfu ~~: A, B,C % I

(C) ~ *i4111~{~~ cfi ~ cfi Cflf cfi, ~ ~ am:R ~ ~ ~~~: ~

~ ~ ~A, B, C sm f.=j'@\f.:mma-%I

(0) ~ 6I(Lf)(1Cfi cfi ~ cfi Cflf cfi ~"ffR ~ ~: ~ A, B, C % I

. x-r t y+3 z-2
198. The point of intersection of the line -- = -- = -. -. - .. andAhe. .plane

1 3 -2
3x+ 4y+ 5z= 25, is:
(A) (5, 10, 15)
(C) (10,5,15)

(8) (5,15, -10)
(0) (2,1,3)

x+1 y+3 z-2 .m -1- = -3- = --=2 ~~ 3x+ 4y+ 5z= 25em !OIfu« ~~:

(A) (5, 10, 15) (8) (5, 15, -10)
(C) (10, 5, 15) (0) (2, 1, 3)
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199. Equation of tangent to the curve i +l ~6x + 4Y = 12, which is parallel to the line
4x+3y+5=0, is:
(A) 3x- 4y-,-31 = 0 (8) 3x+ 4y+ 19 = 0

(C) 4x+3y+19=0 (0) 4x+3y+31 =0
~i + l-6x+4y= 12'1R.m4x+ 3y+5 = Ocff~mmCfiT fl4Iqj(O,t:

(A) 3x-4y-31 =0 (8) 3x+4y+19=0

(C) 4x+ 3y+ 19 = 0 (0) 4x+ 3y+ 31 = 0

~oo.;tan-1 ~ + tan-1!=
(A) tan:" (1~)
(8) tan-1( - 1~)

'.! (C) tan-1(~ )17.
(0) tan-1(1:)
tan' ' 2 + tan" 3 =

3 4

(A) tan-1( 1~)
'1p' ('S') . tan-1 (_.-1)." 18

rc)tan-tCj)

(0) tan-
1C:)

A~Set H-81
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BIOLOGY
101. Winged seeds are found in which of the following plants?

(A) Pinus (8) Cycas

(C) Poppy (0) Caster
m!ij (~) ~ f.:n:;:r-B -B ~. ~ -B -nit ~ ~ ?

(A) ~ (8) f//$Cflf/

(C) ~ (~m) (0) ~ (tsT)

102. A pollen grain is also called:

(A) Male sperm cell

(8) Spore mother cell

(C) Partially developed male gametophyte
(0) Partially developed embryo
~ q<lllCfiOI Cfit('11d1t" :
(A) ~ ~sfl ChI~ICfiI

(8) ~"lffi! ChI~ICfiI

(C) ~ fclCfiffl(j ~ 1l14ChItJ'~

(D) aTIWn fqCfiI"B(j ~

103. In angiosperms, archegonia are absent but are represented by:

(A) Egg cell (8) Ovule

(C) Egg apparatus (D) Synergids
3TI1i1~lf~ljl-B 3iIChllj)f.p:u ~ ~ ~ ~ >rfuRf~ fcn<:rr~ t" :
(A) a:ru6 ChI~ICfiI&m (8) ~ &m

(C) ~ -~ &m (0) ffl'1f~:g",fI &m

104. In a typical Mendelian dihybrid cross, the number of pure homozygous plants in F2
generation (out of 16) will be :

(A) 09 (8) 03

(C) 02 (0) 01
~)l'RC\fqcn ijo:g(11lJ f~fiCfi<OI -B F2 ~ -B ~ fl141l14;ffi cftm"CfiT ~ (16 -B"B) ~ mrIT ?

(A) 09 (8) 03

(C) 02 (0) 01

H-81 131GRALL~ A-Set



105. The percentage of energy transferred from one trophic level tathe next one in 2llfOod
chain is:
W 1~ ~ 1~
(C) 20% (D) 01%
'Q,Cn ~ ~ ~ 1J:Gfi~ w~~ ~ -m q;) f?;t1'1I"{1Ra ~ CfR'iT ~ qft ~ l=J1?IT ~

t?
(A) 10~
(C) 20~

(8) 15~
(D) 01~

•
106. Pyramidsof energy are:

(A) Upright in anecosystems
(8) Upright in oceanic ecosystems
(C) Inverted in forest ecosystems
(D) Inverted in all ecosystems
"3i\iIf cfi qlRf~reCfl ~ (r.rtf14:s) :
(A) ~'1ftqlRf~reCfl mn~ -a;~ (~) ~ ~
(8) ~ qlRf~reCfl mn ~ "3i~ ~ 't
(C) CR-q'RW-ifctCfi ci"sr ~ m (~)~ 't
(D) ~ q'Rf~reCfl mn~m~~

107. Plants growing in acidic soils are called:
(A) Psammophytes (8)
(C) Lithophytes (D)
~ ~ ~m~ -q)~Cfl~ctld ~ :

(A) :?Fn<fll~~*i

(C) ft;r~<fll~~*i

Oxalophytes
Halophytes

(8) ~ctJtMl<flI~~*i

(D) ~ctI<flI~~*i

108. In a food chain, Phytoplankton ~ Zooplankton ~ Fish, Zooplankton acts as:
(A) Producer (8) Secondary consumer
(C) Primaryconsumer (D) Decomposer
~ ~ ~, ~ ~ ~ \l'(l1\{1qCf) .~ ~, ~ \ill1l(1qCf) t :
(A) 3('qIGCf) (8) r~ffilfCf) ~~

(C) "Sll~ ~~ (D) ~q"el2Cf)

'A-Set 1M1RALt~~ H-'8.



109. The apical meristem of the root lsenelosed (protectedj.by :

(A) Cortex (8) Velamen

(C) Calyptra (0) Piliferous layer

~ q;y~ fqcqG'£fltlCfl f~JOO1ifCfld~~ ~ 6RT ~ ("U~) mT t ?

(A) ~ (8) cfI(1lq~

(C) ~f(1~1

..
110. The innermost layer of cortex that shows Casparian thickenings in its cells, is called:

(A) Exodermis (8) Endodermis

(C) Epidermis (0) Pericycle

~ q;y~ ~ m ~ <ilf}(ICfllaTI ~ cfh.qR:4~~ -qr::rr ~ t,.cp:rr th~(1ldl t ?

(A) ~ ~ (8) 3H'1@5f'q1

(C) 3lf~ (0) -qfti~

111. The concept distinguishing three zones of cells in root and stem tips, is known as :

(A) Histogen theory (8) Tunica-Corpus theory

(C) Meristem theory (0) Koper-Kappa theory

~ o~ ~ cf;~ ~ cfA q:,">jf}(ICflI~"CflT 31Cf~ ~ ~ "Cffi1T ~ t :
(A) f~Rt\l1~ ~ (8) <;.qj'1CflI ~ ~

(C) q£l~'"l fflOSH1 (0) cifcn:-CfiCXIT~

112. Phloem pockets are found in secondary xylem of :

(A) Sunflower (8) Dracaena

(C) Bougainvillea (0) Bignonia·

~Cflo\S£l ~ ~ ~cf; ~ ~ \;fffi ~ :

(A) ~<\l1:t@~ (8) tifRr ~
(C) 41¥lfclfft47 ~ (0) ~J7;j}f.t41 il

H-81 A-Set



113. If put in water, gram seeds swell more than those of wheat seeds, because:

(A) wheat seeds have only one cotyledon while gram seeds have two

(8) wheat seeds are starchy while gram seeds are proteinaceous

(C) wheat seeds have less surface area than gram seeds

(0) gram seeds have more cellulose than wheat seeds

"tJFft 1l 00"tR ~ ~ ~ Tr{~ ~ Cfft"WRT 1l ~ ~ f. ~ :
(A) Tr{"#~~mmt~~"#~
(8) -:;fl1l mtA Cfft 3lf~ mmt ~ Tr{"#~ C~) Cfft
(C) Tr{~ ~ em ~ ~ -:;fl~ fi Cfft"WRT "# Cfil1mmt
(0) -:;fl~ ~ if itt ~ fi Cfft"WAf if 3lf~ ~t"\ffi"f mmt

114. What is the acceptor of carbon dioxide in C-3 plants?

(A) Phosphoenol pyruvate (PEP)

(8) Ribulose 1, 5-diphosphate (RuOP)

(C) Ribulose monophosphate (RuMP)

(0) Phosphoglyceric acid (PGA)

C-3 ~ 1l ~ ~~fi.ffiI~:S CfiT ~'CfmIT t :
(A) CflTM~11(1 ql~~~2 .

(8) R~<il'lJ 1, 5-:SI~CflT%2

(C) R~<il;;Jt ,""of!CflT%2

(0) CflTwiifi(1tlRq:; ~

115. The enzyme secreted in an insectivorous plant to digest insects is :

(A) Amylopsin (8) Pepsinogen

(C) Lactase (0) Trypsin

~ Cfl121t!Rl~ if'Cfftc em~ ~ ~ ft;n:{ 'Wcrn ~ qJffi Qf3t1~q t :
(A) Q!i1~ct1fq'H

(C) ~

(8) qfCfl11;;Jt'1

(0) f~qfff'1
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116. Plaot$a<llapted.to;4ow-jigt.'tt~tPi
(A) have hJg~r rClt~of C.C)i~~J'
(B) have .leavesmodifi~dtJ:ttQ.~$
(C) have larger photO$yri_u"itsiz4it than other plants

<, ~'._; .::-~ ::';, f'::'i::~.;:,-';
(0) have more extende<froof$yslem
~ ~~ ct~:31~M'_"'l!
(A) CO2 f~(l*(Uf ~.~ ~"l
(B) -qftp;jj CfiocCf:ll'1l ~qR1Rer. t!mitf
(C) 3F-T -qWfGfiT ~ '1l.ql ~~'~~l ~ it<ft t
(0) ~fqCfi ffl(1 ~-ri;r ·~;;Jft."tJ.·

117. When root pressure is iM4it~~ ofthe foflowingprC>cess will be rapid?
(A) Respiration (B) Transpiration

(C) Absorption.. . ...\.... '. (0). .Excretion
\lIGl~ GJif 31f~ m m ~D1j~'''~~·~~tr ~ .. ?
(A) ~ R (8) ~fiSiflct'l'lf"1

(C) 3i~~n6jOI (0) a~Jf.,

118. If Turgor Pressure (TP)becomes equal to the Wall Presture(wp),:then :
(A) No exchange of water wjfltakeptace
(B) Water will leave 08"

(C) Water enters the catJ
(0) So/ute goes out olthe a_II
am ~ GJif, f~ ~ ~ 'lR'fiRt~, m.:
(A) ~ fqf"fqiq ~ m.
(C) ~ Cf:I)~Ii!fi1'1l~....wrr

(8) Cf,)fi(fCfiI\JRI'I' ~ cm'~
(0) ~ .'NICfil '1l~ ~ ~ ~

119. A decrease in photQ$VQt.tMttiGra. with il1Creased availability. qf,oxygen is catted :
(A) Warburg effect (8) Richmon Lang e~ct

(C) Blackman effect .: ....•....... ...•..(0) Emerson ~mhancementeffect
3iTCf(fl\il'1 GfiT ~·tf ~."* _'Rm~Ut q.ft'~.qm~t~Ri't t·:
(A) ~'5rqycr (8) R'l'Jjqb;g WI 1jJ~

(C) ~*""11jJ'zn<!f (0) ~ ~"EiGuc 1jJ~--------~~.'.~i··-i·'··••••~ ••••'?!IIiIIIIII!I!I'~IJIIiIoI? ••·~-. "'Ii!Oi!""'iIIIo!ii' . "'iI!IM'!'!IiII!ii'" ~- .• _ •••••••••• -., n_··.·._·(_·r- ••"H'i_"~··~••••_"·~_";•••••·iIIoo1 ~~~

·H-41 ,f<Uiri:m...wati.i• ,~t



120. 'Phycobilins' are found in :
(A) Green algae
(C) Blue-green algae
1q;I~thlfcqf~41' "tfTit ~ f :
(A) ma~ll
(C) ~-mtT ~ II

(B) Brown algae
(0) Red algae

(B) ~~ll
(0) ~~ll

121. Translocation of carbohydrate nutrients in plants usually occurs in the form of :
(A) Starch (8) Maltose
(C) Sucrose (0) Glucose
CfilafY~I~~2~"tfGT?1T CfiT BPil;::qt"/<ii~ ..q ~ ~ II ~I1H1<°i mm t ?
(A) ~ (B) ~

(C) ~ (0) I<tChI~

122. The gas that killed large number of people in Bhopal gas tragedy, was :
(A) Phosgene (8) Chlorine
(C) Ammonia .(0) MIC (Methyl Isocyanide)
~ -rm S;(§Jlf;ijCfii.q ~ mr .q~ ~ ~ CfiT"Cfi"R1JT ~ TR:r ~ :
(A) q;T~1 (B) ~
(C) 3'ltftHQI (0) m (fl1~ :&I1~41Bi~11~-S)

l'

123. Fl,uoride pollution in water mainty affects:
(A) Teeth (8) Kidneys
(C) Brain (0) Heart
\lR'T II <R1IU~-s~ ~ ~ "5f~ ~ t :
(A) GYmOfi) (B) ~ "<:fiT

(G) &\f~tSCh"<:fi1 (0) ~ 7.fil

124. The drug 'Belladonna' is obtaif18ttitom :
(A) Solanum (8)
(C) Atropa (0)
'~ "> , ~~~(116HI Gcrr'IDt(f QflJl Q :

(A) WH'11Of ~

(C) T?jrw ~

Capsicum
Asphodelus

(8) ctfCRCfllOf ~

(0) Q,t4?lUf!lff~
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125. Edible part of Mango (fruit) is :

(A) Epicarp (B) Mesocarp

(C) Endocarp (D) Thalamus

aw:J (~) ifm~ 'qJlJ~t-:

(A) ~~~ (B) l1Ui~~

(C) ~:~~ (D) ~t>q1~1

126. By which of the following, Haploid plantlets can be produced?

(A) Meristem culture (B) Callus culture

(C) Pollen grain culture (D) Embryo culture

~ ~ Hyifchd if "B ~ mu·«tF1 fcfiit· \jfT~.~ ?

(A) fq~\T~t1Cfl ~$t (B) ~ ~$t

(C) q<PICflOI~$t (D) 'l{UT ~$t

127. Commonly used growth regulator for root formation in tissue cultured stem segments

is:

(A) Indole Acetic Acid (IAA)

(C) Gibberallins (Gb)

(B) Abscisic Acid (ABA)

(0) Ethylene

~ ~ ~$t if~ ~ CfiB ct ~ alA q]ffi ~ f1l1;;;i1Cfl~ t- ?

(A) ~ ~fi1f2:Cfl ~ (B) ~<IlglfflCfl W<1

(C) f,jj~f<'H"i (D) ~~I$MI1

128. Basically antibiotics are :

(A) Toxins

(C) Drugs

(B) Syrups

(D) Plant extracts

$IRt~ fCfCflllffif: CflITf ?

(A) ~ ~ (;£ffcffi'"fl) (B) m
(C) ~~ (D) ~~
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129. Yeast (a fungus) is used for obtaining:

(A) Riboflavin

(C) Ascorbic Acid

~ (v:cn CfiC\'"<fi) ~ 1ITt(f mm % :
(A) <1$aflcffifcH

(C) l!>%'ff4Cf) ~

(8) Vitamin 8-12

(D) Tocopherol

(8) ~clfq~ ~-12

(D) i\q:,'I tfi{k1

130. Which of the following organisms is commonly used in alcohol industry?

(A) Sacchromycetes (8) Basidiomycetes

(C) Phycomycetes (D) Penicillium

f1"1ifCfid ~alf ~ ~ fct;B 3"j('q1ltR1 ~ ~ '8114I"""ld: ~ ~ ft;r:rr \lffirr % ?

(A) il9flJ tf/$rntJ \if

(C) 'II/$Cfi7tf/$rn27\if

(8) iffi:rfg3iJtf/$rn2J\if

(D) i)f.m7f&tlltf

•
131. The name of microorganism associated with the preparation of 'cheese' is :

(A) Streptococcus (8) Acetobactor

(C) Xanthomonas (D) Bacillus

'~' W:mm~~ ~~ CfiT ';fl11 Cl<rr ~ ?
(A) ~tdJCfirCf)8 (8) Qm21~CfZ(

(C) \f!~t{Hm (D) ~ifJH8

132. In Eukaryotes which of the following enzymes synthesizes the DNA on leading strand?

(A) DNA polymerase-a (8) DNA polymerase-J3

(C) DNA polymerase-y (D) DNA polymerase-8

~~ (~J114~~Cfjl) ~. RDlfctf&d ~ ~ ~ 1J>;::jj1$14~ ~ 1R DNA fil?cl ISf01 Cfi«IT

~ ?

(A)

(C)
~.~.~. ~1t:tR~ ~
~. ~. ~. qTffiq't~ lfI11f

(8) ~.~.~. qR1lq't~-~
(D) ~.~.~. qf{P(\q't~~
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133. Striated muscle fibres are found in :
(A) Urinary bladder
(C) Skeletat muscles
~ m~ f.f1:;{ 1l ~~ ~ :.
(A) ~
(C) ~:qm

(8) AJimentary canal
(0) None of these

(6) ~~

(0) ~~~~

134. In man oxygen is transported in the body by :
(A) wacs (B) .RBCs
(C) Thrombocytes (0) Blood plasma
~ ct ~ 1l ~'f~\ll"l Cfil 4RC4t\"1 ~~ mm % :
(A) ~ ~ <'.flM<'.flI~ (B) ~ ~ <'.flrl)I<'.flI~

(C) ~Tkl">lfU$(! (0) tcre ~

136. Whiob of thefeNowingis ak.ind of t;ssue ?
(A) Liver (B)
(C) Blood (0)
~ ii~ ~ "!TciiR Cfil ~ % ?

(A) ~

(C) ~

Kidney
Alimentary canal

(B) ~

(0) 31Tm 1K1

136. Connective tissue is formed of the following fibres:
(A) Yellow elastic fibres (B) Collagen fibres
(C) Reticular fibres (0) All of these
~ ~ f.1t;{ ~3lf ~ Rfi:icf t:
(A) ~~~~ (8) ChIM\3l"1 ~ ~

(0) ~ ~'l:ft~

137. Myelin sheath covers :
(A) ~1J)QryoQt hen
(C) V~~~\9.~"'~fjbre
~~~t:
(A) wff cF~ 'ftt

(C) df.)0~ihl ~ CRJ: cffi

(~) Vertebrate muscle fibre
(0) Nerve fibre of insect

(13) <'.fl¥1*,*ifll ~ CRJ: cffi
(0) qffc ~~ ~ cffi

-
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138. igestion of cellulose in rabbit takes place in :
( Vermiform appendix (8) Stomach
(C~ Vermiform appendix and caecum (D) Pyloric caecae
~ ~ i4<t~~j\i1GfiT ~ f.p:;, ~ mm t :
(A) ~12CflICflR m (8) ~

(C) 412CfllCflR m orat~ (D) \JIduR·f41 at~

139. The narrow distal end of stomach is called :
• (A) Cardiac (8) Duodenal

(C) Pylorus (D) Pharynx
~~~~"CflT~~t:
(A). \JId<Jl14I (8) ~

(C) "\J1d<PIJfq (D) m:RT

140. Largest gland of the body is :

(A) Liver (8) Pancreas
(C), Thyroid (D) Pituitary
mR-q~~~f.:Frt :
(A) ~ (8) 3P'"'41~14

• (C) I'WHT~'S (D) M~"{l{l

141. Dental formula of man is:

2123
(A) 2123

2103
(C) 2103

lTj'&r GfiT ~ t :
2123

(A) 2123

2103
(C) 2103

2123
(8) 2023

2234
(D) 2033

2123
(8) 2023

2234
(D) 2033
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142. Sperms take nourishment from:
(A) Germinal epithelium
(C) Sertoli cells
~R14~~~cm~ :
(A) \iff4'1t1 aQCflt11

(C) fI<ilffi Cfll~ICflI<t

.(8) Spinal chord
(0) Tunica albuginea

(8) ~~
(0) <:.1P1Cfll 3i~ -m f.P;1I

143. Kupffer cells are characteristic of :
(A) Liver
(C) Stomach .
~ CflI~ICflI<tRl4 ctt fq~It1€11f ':'
(A) ~
(C) ~

(8) Intestine
(0) Pancreas

(8) alrn
(0) ~:P;::£fI~llI

144. Tendons connect:
(A) Muscle to muscle
(C) Bone to bone
~.'f.r:1 'Cfll.~ ~.:

(A) 'Wt~'Wt
(C) ~~~

(8) Muscle to bone,
(0) Ligament to bone

(8) 'Wt~~
(0) f(9.IIi'lu2 ~ ~

145. Female sex hormone is :
(A) Progesterone
(C) Estrogen
l{1GT~~A14t" :

(A) !IIl~'Eil<l'1

(C) ~;j\'1

(8) Estradiol
(0) All of these

(8) ~1f-SlITt1

(0) ~~~

146. Glucagon is secreted by :
(A) Leydig cells
(C) Corpus lutsurn
·ttqWTH Rl4~mfcrn mmt":
(A) mrr cil~ICflI

.., ... «~) Cfi'fth:r ~l1l4
,,1~ .('fr. ~..~" .~'..:':

(8) Islets of Langerhans
(0) Glisson's capsule

(8) (Yl·J(~fl1frq

(0) ~~
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147. Stimulation of uterine contraction during child birth is brought about by:
,
ItA) Adrenalin (B) Progesterone

(c) Oxytocin (0) Prolactin
f.m{x ~ cfi W1lf ll~ ~ ClfT ~ f.p::; ~ mm t :
(A) Q\f~'1F<1'1 (B) ~V1R.l(f"1
(C) aflcrul2tPH (0) ~1~fcR:'1

" ,
!

148. Pituitary gland is found in :

(A) Gonads

(C) Brain
flOl~l!~~'l ~ f.p::; ~ ~ \lfRft t :
(A) \iAG

(C) Bf~6Cfi

(8) Around trachea

(0) Pancreas

(8) :(CllfI"f("f') cfi "'CITU. ~

(0) ~·~1:(14

149. Main function of sobcutaneousfatm man is :

(A) Cushion against Shocks (B) Providing body shape

(C) Food reserve (0) Thermal lnsulatlon for the body
~-ij~cmpm~~t: ~."
(A) ~~~ (B) ~q;)3WfiR~

(C) ~ 3lR1ijUf (0) mR CfIT"ffi1fr:r mlijUf

150. Shivering in cold is a method for: .

(A) Production of heat by muscular contraction

(B) Preventing radiation of heat frOm body

(C) Producing heat by dermal friCtion

(0) Increasing blood supply to the skin
~ ~ ctiqCfi41 ~ f.p::; mm t :
(A) ~~~mtr.··~~
(B) ~ ~ mtrCfiT fCifcfl{OI ~

(C) ~ er$r mu mtrCfiT.~
(0) ~~~~~

"'i
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,(8) , de.foxificationof drugs
(0) production of bile

\ .1
~.'-- ,_ .. -

t~J "'~'~'ffl·.~,Mi,fqtsj1q;{ol
(bj ftrn'cffi ~
!'c;""

-...i_"":_;'

.(Sj, Ceratohyaf
,tb, Ramus

,(~) rmat?ilf~
(D) lm=r',

(8) Typical cervical
(0) Thoracolumbar

(f3)
(0)

(8) beri-beri
(0) peflagra

(B) ~-~
(0) ~'

(B)Ftti~r6sis
,(D~ Ph~LJmon;a



156. If man and dog belong to the same class, then th~y rnu~.:b~I,gflgt\9~he sam~)~,;

(A) Genus", (8) Species :::,i
h::\ /";(;; .' ~': ~.} t':lfffj::,; ~q/

(e) Order (D) Phylum. .". ..,
:-: ~

~~"Q,Ci~~~.q~m~l1;Cfi.q ArUjr~d ~~ :~, ,,;.,'
i " _'~"," >,,:':.j" I !' - ",; .. ' Ie.} .- f'

(A) ~ (8) ~'h:f"'1 :"',~, ': 1

(e) am (D) q:;1~(?j4

IHVi;
157. The very first vertebrates were:

;.'k' ?
,

• f

(A) amphibians

(e) jawleSS fishes

)f2j1:J CfI:lI'6Cfil f.p::::f f :
(A) ~lrcS441

(e) ;*4'$!fctt)'1 4tf5\~,~,: ..

(8) mamFrl*.i

(D) reptiles

'. '.~

(8) «Ami\'
(D) BR~~'

158. In vertebrate evolution, reptiles were able to move comp;ESt~lybnttH~ncf:auE{to:
;'....~': ~-;.--~J. t - t :..

(A) their mcreaselnsge (8) their scales
. ~~"

(e) the availability of food (D) the amniotic egg

CfI:lI'6Cfil mm -ij ~ f.p::::f qffi1JT~~ ~ 'q\' 3lT~':'.'f"d

(A) ~~~~~'~ (8) ~cf;qffi1JT
,.~2'3i

(e) ~~~cf;CfiR"OT (D) ~ ~.~~Uh ,k.:.o .~

c. T'
. L-"

1~9.Male anopheles mosquito;

(A) bites at night

(e) does not bite atal!i2;:,

OR t(:fJNi(,'1')~~ :

(A) Wl.q~t

(e) ~~~

I"~

(8) bites in the g~y ,...
• 'f:,<: ~,:;,J \\2;-1 i nOI; ('j

(D) can bite anytime

(8) ~ -ij CflIi!d1 f:'j ':;l- fir,:

(D) ~~q;g~t
Tl,,::;::';ft:-;," " t ~_:;,-~



160. What isthe full torrnot AIDS?

(A) Atopic intrusive disease syndrome

(8) A.IIimmunity disease syndrome

(C) Acquired immuno-deficiency syndrome

(0) Acquired immunity disease syndrome

~ (AIDS) cnr ~ ~ <FIT t- ?
(A) Q;2JMCh~ ~ ~ (8) am, $D{Ail ~ ~

e,

161. Vitelline membrane is a :

(A) primary egg membrane

(C) tertiary egg membrane

ClI$G<.YH~~ mm l :
(A) m~~~
(C) ~~~

(8) secondary egg membrane

(0) quarternary egg membrane

(8) f~ffi4Ch ~ ~

(0) -q-g;~iJfl(:4Ch~ ~

162. The end products of spermatogenesis are:

(A) Spermatozoa (8) Spermatids

(C) Spermatocytes (0) Secondary spermatocytes

Wf'l \1111 cnr 3ifui:r .~ t :
(A) ~
(C) WflI'1'=t1"'I~IChI

(8) Wf'lln'i4

(0) fG:ffi4ChWf'llncn"'I~IChI

••

163. The cleavaqe that bisects the egg at right angles to the main animal-vegetal axis at
midway is: .

(A) vertical (8) equatorial

(C) meridional (0) latitudinal
31'Ilt q;) ~ a1(K1f.;tl4 3laJ ~ fl4cn"'IUnl! fufcf~ ~ qJffi fcfGffi ~ :

(A) ~~~ (8) "4~

(C). 4Ian~H')4 (0) 3l~
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164. Honey bee belongs to the .family :
(A) Bombycidae
(C) Apidae
~ f.fl:;r ~ cnl t :
(A) ~'4i~R:t:61

(C) ~

(B) Acrididae
(0) Luciferidae

(B) ~fsl:if6il
(0) if1.«I'; itsl

165. The native country of Mulberry SilkWorm Bombyx mori is :
(A) India (B) Indonesia
(C) China (0) Japan
~"tR ~ \lfA ~ ~ ct~ili~ ~ q;r 1f'f Rcfm' ~ -w -ij t ?
(A); 'fRoC4csi (B) ~;s1~.Wilji

(C) ~ (0) ~

166. Which of the following scienti$~sdeciphered the language of bees?
(A) Charles Darwin (B) William Harvey
(C) Karl-von Frisch (0) HargovindKhorana
11~ ctt ~em ma~IIMC6·~.~"iljl ?
(A) ~~ ,.
(C) ~-CfR rnm

(B) fC4f(fflj'i ~

(0) ~wnfq~WAf

167. Mortality quantifies :
(A) birth of individua1sina population
(B) death of young individua1sina population
(C) death of old individuals in a population
(0) death of individu~ in a population
~ f.fl:;r ltfCRftt :

(A) \111~ @Ofi-ij &( fcRt l!1 q;r ~
(B) \ij1~@Ofi -ij ~ &(fiffl~ qft ~
(C) \ij1~@Ofi -ij ~ &(fc:Rttif qft ~
(0) \ij1~@Of1-ij &(fcRtl(i qft~

H"'a1



168. Which of the following is a density dependent tactorthat' regulates populatioh'size'?
(A) flood " (B) fire'
(C) disease (D) freezing
f.p:;f ~ ~ ~ f.:r~ ~ ~ t~ \3I'i'('j&l I R4f?ld ~ l.?;;, '
(A) ~ (B) 3WT

(C) WI ' (D) f~41Cfl",ol

169. A large flightless bird of Mauritius that got extinct somewhere around 1681 due to
,~.,~ ~:i ~ Y' ~ .

extensive hunting by sailors is :
(A) Ostrich (8) Kea
(C) Kakapo (D) Dodo
4f:(1:tifl ~ 1WI1 '\3I'A CfTffi ~ d'$'itn'i "tfajt ~ 1681~.~~ ~~:'CfiB ~ ~ tr
'TGIT, f.p::;:r t :
(A) :m1"'TT
(C) CfllCfll4'l

(B) fcfi<:rr

(D) -mT

'''", ;.J,

170. The Great Indian Bustard, one of the largest flying bird in the world was once quite
abundant in the arid zones of India is now rare and restricted to the: '
(A) Gangetic plains (B) Desert of Rajasthan
(C) Deccan plateau (D) Malabar coast
~ ~ ~ ~ "tffaFfl-q ~"ft"l. ~64'i'~ -m 'qRq~~. ~ # 4gt=t14d~ 1WI1 ~ I!ij 3lif

~cqt~~~mfl:ffit :

(A) *rr~~
(C) Gfaroft "tfOR:

(B) "'1\3I~H' ~ "tfil«t11

(D) 41ctialfR (fC

171. The synthesis of ~~Ji~~nsin blood 9f man is controlled by alleles:
(A) IA IB and 1°' ': .' . (B) IA and IB
(C) lA, IB, IAB~]tY'\21'O P"tU:' i (D) lAB, 10

~ ~"'(CRT ~ Q;oil'~'i~ '('j:t(Yltlj01f.p::;:r ~ ~ f.p:jf;j~~~1 t :"
(A) IA IB am: 1° ', ,, (B) IA am: IB
(C) r', IB, lAB, 10 (D) lAB, 10

ftGflAttp

'4 'P8~'M
, ,~.
, "

f
I
I

,



112.0rowth 'of cen occurs.during !

(A) Interphase

(C) Both of these,
.41')~rq;1~ f.rs:;t c;~~.~:
(A) ~O(!<~ \it

. (C) ~~.

I r'"

(B~'\~~e·
(0)· ~qfthe$e

• <.~

;i;d.{ '~, ~:i ;j".,:,

(ai~~~r
(~j, ~~:~.~.j'

(C) AS

(~'i!"&i)~«.fcn"{{"(Gffi ~ -q~. ~ ~ ..~ ?
(A) -aft
(C) ~ GlT .

(~).~".
(OJ ~',
l1

. ,
11;" '

174. A diagrammatic representati()noj;;~WJ29 ,~I'l9~og,aUmQCPtlologicalfeature$; of .
. ". '. - _. . . " ., .. '. '. -r~· " ' .. :. ,. ,.,: . .,' '. .::~~:I~:r::eiscsJled : _ t~t:~~i8m .

(C) Idiogram.:~ (0) CtadOgram'
.'" ",_::f'.-:, ':,' .:·,.:-!.i:"]::,;':·';:" .",': -.','

~RJ.fIGI~q 1fiT ftt"iCfl+--m 101f{~efi"atl€f)i~ ~ ..."tlil ~.~ ~ f :
(A) qf<flll)l'i (~)fij~~~ .

. ' \~ . .:':,.:,:.:.: ;

(C) ~f~4hH'i (q) ~.~\jl"

.175. Inversion leads to alteration in :

(A) composition of genes

(C) sequence of genes
!JIraHl~"~ f.p;:f 'ij qf{cHf ••• t:
(A) ~ ctt u:rrr' 'ij
(C) ~ c6 Sf;tf 11

<i,,'

;~ : :. ~::r.,:::",\i.::

.fa)'; 'hombi:)rof genes
(0) ~triictureofgenes
>~1:; ;",::t<I~~'t· .

A~Set.
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176. Which of the following is not a type 9f chromosome?
(A) Acrocentric

(C) Chromatid
~-ij~~qrr~~~ ?

(A) Q:st,1~~Cf)

(C) Siflli1f2'5

(B) Submetacentric

(0) SAT-chromoSome

(B) f1CS4i121~f~Cf)

(0) ~-~

177. Female heterogamy is found in :

(A) man

(C) drosophila
l:fIGT fq tlI"IY;"I;:H'I1 f.p:;f -ij ~ ~ ~ :

(A) ~
(C) ~T«IM.ctl

(B) fowl

(D) cockroach

(B) ~

(D) Cf)1Cf)<t '€\

178. Which'of the folloWingblood cells produces antibodies?

(A) T lymphocyte (B) Monocyte

(C) Neutrophils (D) Blymphocyte
~ -ij ~ ~ Cfllil?ICflI Q;o2}4tsl orfffi:aft) q;y ~ ~ ~ ?
(A) T f(1Ah1f1I~a (B) ,",1;ftfll~G'

"

179. Small,Circular,extrachromosomal and self-replicating bacterial DNA used as vector
in recomoinant DNA technology are:

(A). plasmids· (B) plastids

(C) transposons (D) phages
~, 4nctlCf)1{ ~ q ~!lfRtCf)<OI ~CR.1R?:II~~lt~;r-q:qrrm 9:1lff\ifCfi "itWI -q:!l1wFICfll-ij~ ~

~-ijmmt :
(A) '<.1lf,;q'5

. '~(C). ~1«"iL:t'1

(8) c('"f~'5

(D) ~

H-81 131GRALl--page-106 A~Set

J ,



I

180. The PCR is used to :
(A) amplify a small amount of DNA

(B) identify target plasmids
(C) seal sticky ends
(D) cleave bacterial plasmids
-qrmaw~mm~ :
(A) m ~ ~ qff Wcfr lID1T ~ fcrnm ~
(B) cWrc: c("lIf'*4sq;) q~:qH~~

(C) f:qqf-qq~ q;) ~ ~

(D) G\qi)n:~lf '("lIf\riis q;) ~ ~

181. Who first discovered the insecticidal properties of DOT?

(A) Otto Diels
(B) Parker and Beacher

(C) MOiler
(D) Kurt Alder
it it it'q;y ~1(!11~1Cf)"TIT~?;fI1 f.r1::r ~ mr :
(A) aTIir~
(8) "lffCff{ ~ ~

(C) ~
(D) cni~

182. Which pesticide out of these is organophosphate type?

(A) B.H,C.

(B)- D.D.T.

(C) Dieldrin
(D) Malathion
f.r1::r ~ ~ ~ cfI~Cf)11~n3iTif;fl'hTfCfi(!~ q;y ~ ?

(A) m.~.m.
(B) it. it. it.

(C) sl~~(",~1

(D) ~~~4T1



183. Ribosomes of prokaryotic cells are:
(A) 80 s
(C) 60 s
3Hn4cfi'$Cf11 q;,l~ICfiI.m ~ "W~1B14 ~ % :
(A) 80~
(C) 60~

(B) 70 s
(0) 50 s

(8) 70~
(0) 50~

184. flattened disc-like sacs in chloroplasts are called:
(A) Loculus (B) Stroma
(C) Thylakoids (0) Green vesicles
t:Rd??lq$ ~ ~ ~ crrffi" ~ ~ ~ W1R ~ Cflt:(9l(n % :
(A) (1">ICRL<1{4 (B) ~

(C) P<f1~i§lCfll~''(fi (0) t:Rdl~ltr

..

185. Dictiosomes are found scattered and unconnected in :
(A) Bacteria (B) Animal cells
(C) Plant cells (0) Blue-green algae
fucR ~ {f~ ~ fufcR~ com ~ "iifffi % ?
(A) ~alf ~ (B) ~ Cfll~ICfilalf ~

(C} "tfTGG~I,m ~ (0) -;fu;:r-mtfi ~ ~

186. Main basis of differentiating prokaryotic cells from eukaryotic cells is :
(A) Endoplasmic reticulum (8) Plasma membrane
(C~ Nucleus (0) Golgi body
a:rmqcfi~Cf)l .* {4414~~Cfll CflI\?(ICfllaTI~ 3RR 'Cfi"B COT~ awm: CFTI ~ ?
(A) 3Rf:~ \l1lf(1CfiI (B) ~ ~

(C) ~ (0) IIT("'J11CflI1i

187. Which of the following plant cells contain 'P-protein' ?
(A) Sievetube elements (B) Xylem
(C) Parenchyma (0) Sclerenchyma
1'1ft-miR1 Piliiifctld ~ ~ fcf,~ crre:tr Cfll~ICflI ~ 1:IT{ ~ ~ ?
(A) ~..ft -;;l('fCfil (B) ~ CGRi)

(C) If'~"'6~ (0) ~~
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188. According to the 'cell theory' :

(A) cells have nuclei

(B) cells are living

(C) cells are able to reproduce

(D) cells are structural units of organisms
, ~1f.?1Cf)1~' cfi" ~ :
(A) Cfl;I~ICf)I3TI-B ~ ~ t
(8) ~ Cfllf~ICfiltt ~ mm %

(C) ct?l~ICf)ltt~~ mID%

(0) ct?lf~ICflltt ~ q:ft m-i'FU,GCf) ~ %

189. Nucleus in the cell was discovered by :

(A) Robert Hooke

(C) Robert Koch
·i5f>"'I~ICflI-B ~ q:ft ~ ~ q:ft ?

(A) ~SCfI"

(C) ~ Cfi'R:T

(8) Robert Brown

(D) Z. Jenssen

(8) ~~

(D) ~.~

190. The chief element present in middle lamella is :

(A) Sodium (8) Calcium

(C) Potassium (D) Magnesium
11~ -B 1WIT \ifR CfTffi ~ mq % :
(A) ~ (8) ~F~4G

(D) ~~;fj~14G

191. Filaments present in flagella are called :

(A) Micro filaments (8) Micro villi

(C) Micro fibrils (D) Micro tubules
~'qCfiT if \3q~o ~ cp:rr Cfl6C11~% ?
(A) ~~~ (8) ~~~
(C) ~&:tr ~ (D) 'l&:tr 1FC'lCflltt

H-81
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192. Classification based on five kingdom concept was proposed by :

(A) Whittaker . (B) Linnaeus

(C) Bentham and Hooker (D) John Ray
cj:q\ijlld ~Cflt?'<i11~ a:rrmfur CllffCfl{OImwr fcf;7;rr ~ :

(A) ~ ~ . (B) (1,r1t1~ ~

(C) ~~ am~~ (D) \1fRt~

193. In binomial system of nomenclature, each organism has:

(A) Two names, one scientific and other common

(B) Two names, one in Latin and other in local language

(C) One name of two words, one generic and other of species

(D) Two names, given by different scientists
1I"1Cfl{OIctt·~ ~ .q.~ ~ rt~ ~ :
(A) ~~,"Q;Cfi ~~lIHCfl o~~~

(B) ~~,"Q;Cfi~ m"6JT-qo~~~ m"6JT-q
(C) ~ ~ CfiT"Q;Cfi~, "Q;Cfi-em CfiTo~ ~ ~ CfiT

(D) ~~, ~ a:tWl-a:tWl ~#Hr1q:,1 ~ ~

194. What kind of life-cycle does Mucor have?

(A) Isomorphic (B)

(C) Heteromorphic (D)
~ CfiT~-~ctm% ?
(A) Wf~ICflII1Cf1I

Haplontic

Diplontic

(B) ~
(D) r~1rulCfl

195. When does meosis occur in Spirogyra?

(A) During conjugation (B)

(C) During germination of Zygospore (D)
flI7$()JI7$'<7 -q ~ fcJ~ ~ mot % ?
(A) ~rt~
(C) ~~~~~

During the formation of PalmeJlastage

During the formation of gametes

(B) ~ ~f.:rllfor~~
(D) ~ f.p:rfur~ <ftu1



196. Stomata in Funaria are present on:
(A) . protonema
(C) seta
tfJ.I3R4I -ij ~ (BA) com ~ ~ f?
(A) liIil4hiI ("ST?J1l ~) "tR
(C) mc:r (flhlRt.h1 ~) "tR

(8) capsule
(D) foot

(8) ~ (fI'aRChl}'tR·

(D) ~ ('tJlG) "tR:

197. In the capsule of Funaria, which althe following tissues are haploid (n):
(A) Operculum and foot (8) Columella and theca
(C) Annulus and peristome (D) Calyptra and spores
cpf1R411fft fI~t.h1 -ij, H'""fifcfld-ij ~ ~ ~ ~ (n) f ?
(A) ~"Q.Oi 1:fTe: (8) ~"Q.Oi ~

(e) ~"Q.Oi ~ (D) ~1:(dHI (cfift'l,{l) "Q.Oi~

198. Which acid is found in the mucilage'produced by archegonium of 'Pteridophytes?
(A) Malic acid (8) Fumeric acid
(C) Acetic acid (D) Citric acid
l{lilCfiI~~(OI1fft~ ~ Ht.h(1'l qffi ltfl64t.h -ij ~ ~ ~;;nor t ?
(A) ~ ~ (8) '¥{qf\ch ~
(C) Q:fllflt.h ~ (D) fll~f~Cfi ~

199. Which structure of angiosperms is comparable to~a$p(:)fopbylt-of Se/agivella?
(A) Ovule (8) Carpel
(C) Leaf (D) Stamen
mMNt1('1f ~ ~iS41'JII'1qui3f(i~d~"If-i(4f~ fcfm ~ ~ ~ t ?
(A) afI'J1IU:g (8) ~
(C) -quf (D) ~

200. What is the ploidy of endosperm in Pinus?
(A) Tetraploid (4n) (8) Diploid (2n)
(C) Triploid (3n) (D) Haploid (n)
~ ~ ~ (Q;uilfCI4) 1fftTAT~~t ?
(A) iftl1fOid (4n) (8) f~1fOld (2n)
(C) F?11fOld(3n) (D) ~ (n)
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'AO$CULTURE
101. Which of the following n~trt~6.ts~;is'i~sori>~in cpmbined form by the plants?

. ';" .,r,;' ':.'~,
(A) Potassium J /i' (8). Phosphorus

(C) Zinc ' ('rJ '(0) Iron

Wrf"if ~ ~ ~.~ -cfttff~~~~ ~ d'lCI:tnMd foI;trr'fflffi t ?
(A) ti1~~r4¥i ,- Y: ',;,i,:',,~:!\j (8) "hTfChl{'~

- (C) ~ ; ;,>) <' (0) 3WRo:r
_•..-'1~--;,.{~';!f

102. A~ant nutrientoblalned~QI1lI~i,~).~li'r . • •

(A) Nitrogen _' ",;, , (a) Phosphorus

(Cl Carbon (0) Chlorine
~ cf; IDU ~ m qrffi,Q1Gf~~;~:;

(~) '11~?I"';;j

(e) ~

(8) , q;l¥ti\{~

(0) ~::,k:~\i
.; -- . ,

103. Which one of the-fOIJoWir.9~pt;tos~aticfertilizer c~ntains\Nater~soluble phosphoric
acid? '

(A) Basic slag (8) Rock phosphate

(C) DicalclUll'lphosphate,:, -i; (D) Ammonium phosphate
f.r:;J"if ~ ~ q{f%lmU~if~:.q!i(Yj01~n{,l4'll~Rq)~mm t ?
(A) ~ ~ "..., "'I" (~) ~ 4'lT%l

;:~'.~~..

(C)--gI~~f~'44"hT~l" ,;,~ (D)3i41f144 4'l1%l

,.t . " , ..<":' ,' •..... :.::;~,.,,:'~~l~/<f:,' . .;
104. AmmoniumsulphatefertUlZeris ...••.............•in nature. '

(A) Acidic {Bj Basic

(C) Neutral , ",,', ' (0) None of these.
ati{Jf.144~ ~ ctft. S1~;~.--:m····,:·-~-!:·f,t;
(A) ~ ';';j;'" ta} ~
(C) 'aGm "", (p) ~ ~ ~ -;:@

~"
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(A) Calcium nitra~e~n,:p~mmoni~m carbonate
(B) Calcium carbonate and Ammonium nitrate
(C) Calcium sulphate ~nd Ammonium nitrate
(D) Calcium nit~ate'an~:tAmmonium sulphate

~f~4q 3141f14q~ v:i f1:r'~ t :
(A) ~fct44Y~' 3Th: ~'"i'jR4Y~ q;J

(B) ef1fct44YGfilll{f~(!31'R 3'lt{\R4q ~ q;J'

(C) ~fct44q ~ 3Th: 3141f~4,",~ q;J

(D) ~f~4,", ~afR:"~tftf;l;qq'~ q;J

106. Single super phosphate contains % sulphur.

(A) 8-5 (B) 10-5
~ t

(C) 12-5 (D) 14·5
ftPwr WR 'hf%(!.q -rf~qfi'l:fIm ~ mmt I
(A) 8·5 (B) 10·5
(C) 12'5 p;" : . t (J)14'5 ",;

..
107. Whiptail of cautiflower,ls.d'ueto deficiency of :

(A) Zinc (B) Chlorine ".;

(C) Boron (D) Molybdenlfm

~.qr -q ~ fCfl~Cfll'~ ~.~ l}
(A) \iR=ffi

(C) ~

108. Muriate of potash is also known as:
i

(A) Potassium sulphate
(C) Potassium ctitdrjd~:;"
~ alfq; -cftGm cffi ~ .qr~ ~ :

(B) ~

(D) iflfC1~'1Y

str
, I

(8) Potassium nitrate

(D) None of these

(A) tfI~~14Y~ (8) -q1~~14Y"'11$

(C) ci'j~~14,",q{'j'Ri$'5" (D) ~ ~ ~ "ffi
",. "-.~ .. -." •• -.'-~""''' "-, '....••.•. ,cO,.., ,'-, •.•. "' •..•. " .__.•.•••. :'_.._•••..• _! .••• .'~'.o;..:.•.••••••_ •••••• "".".,- .•••.••...-.- .. ~-.•••.•• ,,"-,,., •••. '" ""'.,- .~-.•""-'<_» ..,- .., '.n·' .••. ,,'>~- ••• ,."." •.••.••••. ,. '-~._~#,.•••,... , .'..•••.••••.-.":m;e:r~'''-.•......,., -.~_".._ ,.•...•....,., ~ -,.~



109. Which of these herbicides is used to control weeds in zero tillage?

(A) Pendtrnethaiin (8) Paraquat

(C) Alachlor (D) Atrazine

f.:n:;f -ij ~ ~ ,,?1I<:ti'1/"?n~-Cfi15fur fcim -ij &<4ctql'( f·PP5/ul ~ Cfil11amn ~ ?

(A) ~~ (8) Q<Ict42

110. The main objective of primary tillage is :

(A) To open the compact or hard soil (8) To prepare a good seed-bed

(C) To control weeds

m~ Cfi15furCfiT~ ~ ~ :

(A) ~~cm~
(C) &<qctql(i CfiTf'PP5/ul Cfi8T

(0) To incorporate manures and fertilizers

(8) ~~~-~~Cfi8T

(D) ~ ~ ~ .Gti1.i1:mAT

111. Disc plough is used for :

(A) Primary tillage

(C) Intercultivation

~~CfiT~fcn<:u~~ :

(A) m~ Cfi15fur~ ~

(C) 3Rf:mrr ~ ~

(8) Secondary tillage

(0) None of these

(8) f~ffit;j<:ti ~ ~ ~

(D) ~il~~

!
!,

I
I
J

112. An example of ephimeral weed is :

(A) Phyllanthus fratemus

(C) Avena fatua .

a:rfUlCfi &<qctql'( CfiTlJ,Cfi3C:::1~<OI~ :

(A) '1f1f$&~ 3h2'NfI

(C) t[fcPn ~31T

(8) Xanthium strumarium

(D) Phalaris minor

(8) ~~2f4 t?iiR2f4
e,

(D) cfiMnH ~

H-81 13fGRALL~ge-~14 A--Sit



113. Cuscuta is a parasitic weed of :

(A) Tobacco

(C) Lucerne
~ ~ q{\JIlcll @l{q(jql{ ~ :

(A) ~CfiT

(C) ~CfiT

(8) Pearl millet

(0) Oat

(8) ~CfiT

(0) ~ CfiT

114. Scientific name of baru is :

(A) Echinochloa colonum

(C) Cynodon dactylon

1iW CfiT~ ~flPICb -;:m:r t :
(A) $C#i/$'11ckiI37T C#ilffl'1tf

(C) ffi4;fl:sr.,lfctcdJ"I

(B) Sorghum halepense

(0) Cyperus rotundus

(B) mefu ~<11q"H
(0) ~frmr

115. Which of the following is a contact herbicide?

(A) Atrazine (B) Alachlor

.. (C) Simazine

f.il:;{ 1l ~ ~ ~ ~ :tilCbOiI:tO t ?

(A) ~I\lIlOi

(C) ffl41'J111

(8) Q><.1ICR11{

(0) Q{fCF5I1C:

(0) Paraquat

/

116. Directorate of Weed Science Research is located at :

(A) Bhopal (B) Jabalpur

(C) Indore (D) Gwalior

@l{q(jqj{ ~ ~m;:r f.:t~~"W4 ~ t :
(A) ~ -ij (B) \jjii4<.1g{ 1l
(C) ~ 1l (D) tq\f(,PH 1l

A~Set



117. Water use efficiency~lsmaximtiMltf:;\~;&

(A) Ring method (8) Check basin method

(C) Drip irrigation (D) Sprinkler irrigation

\lR'f ~ ~ 31f~ mm t :
(A) WTM~-q

(C) ~~-q

(8) ~M~-q

(D) ~~-q

'_f'" _.>; I ,(""'" •••.""~ ~ff'

118. Drainage Coefficient is expressed as .~';;
.;iVq ','j

(A) Water drain~d Qff (m2)/?4 hO,urs
A~~~ (m2)

"

(8) Watr)r ~~ine'd6ff(ni3~r24 ho'urs
Area, Kf,Jl~.)

t:

.-~,\
-".

(D) Water drainedpff 'fll;3)/~4 h.~urs
Area (m3)

\1f('f-f.rct;m ~ ~ ~ .;;nor t- ;
\lR'f-~(CffT ~)/24~

(A) ~ (CffT~)

~~'U~I~(~~¥2<)/24~o21~"f i; Jd, -;

(8) ~~)".;,\.:

\lR'r-~(tFf ~)/24 'f.!1JGT

(D) ~ (tFf"if&)
"'* '" ''''' ~ •..,~~ '"1' • tZg '0\' ••• .,./-. "" '--,""".;.0~""l"',., ~ \ l' .•••• .•t§'M ." \~l(:r"* .,.,-~. "A'" ',~*,'-,.'
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122. The cropping system ,benefiCial to.R~ve~t~oil~~f.9'~~~~:tP~!ndSiS:':\"
':~." I - ,i '"':', ':,- .'_'~_., :' .. • --: .: ',_.

(A) ,Mixed cropping ',' ,'£~ (En $tr,fpC(9Wtr'l9 .'.. ;':,
, ,-, ~ .' ": '.\:' " •.•r- ~.: -,-: ' -, ') > ,- • :.i: .. ~ ,

(e)" Multiple cropping ,.,' .~P) ~y'crpppi~,g:,. ':,
~alf q1CfiRUr'm~ ~-~cnl iI¥~"q1~ ~~~~. t, r
(A) fi:rfJJ«f m<FT ' :' ,~~ r~'I(.'~~4;,';.,:'(:;. .',
(e) ~ m<FT\ (~Q1~4;~.'; ~.." i :

I.~;-i- : 'If i::,;·'1,;. ..~,:-. _ "'ro>!, "'»

A-set
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{23. Ear cockle of wheat is due to :

(A) Fungi

(C) Virus

it{-ij~~<.i1lfCh(1~~mm~ ?

(A) CfiCfCfi

(C) cw:m:r

(8) Bacteria

(D) Nematode

(B) ~

(D) f[?t~f'""l

1:!4. Which one of the following crops can be grown in aI/ the three seasons?

(A) Groundnut (B) Greengram

(C) Toria (D) Soybean

f.f8 -ij~ ~ ~ ~ CfiT~mciAT~aTI -ij~ ~ ~ ~ ?

(A) 'fICfi<:11 (B) ifT

(C) mft<:rT (D) :81111~11

1JS. Hydrocyanic acid (HeN) is found in :

(A) Fodder maize

(C) Fodder sorghum

t?1$41 'HIli f-iCfi ~ "tf]'<:IT\lfRfT ~ :

(A) lfcF.fiT ~ if

(C) ~~if

(B) Fodder pearl millet

(D) Berseem ..

(B) ~~if

(D) ~if

1~6.HG-8 is a popular variety of:

(A) Oeshi cotton

(C) Hybrid cotton .

~-8 ~ SI:qfC"ld ~ ~ :

(A) m cti'fm CfiT

(C) mcti'fm q:ft

(B) American cotton

(D) None of these

(B) ;j:J iln:Cfi 1 cti'fm CfiT

(D) ~~~~

H-81 A-Set



T

127. The seed rate of linseed is :

(A) 4-5 kg/ha (8) 6-9 kg/ha

(C) 10-14 kg/ha (0) 15-18 kg/ha

~ctft~~t:

(A) 4-5~1t. (8) 6-9~/t.

(C) 10-14~/t. (0) 15-18 f?tmT/t.

• 128. The depth of sowing for soybean seed is : ~~
(A) 1-2cm (8) 3-4cm•
(C) 6-7cm (0) 8-9cm

~41;sfl1 -t ~ ~.~ ctft~ t :

(A) 1-2~. (8) 3-4~.

(C) 6-7~. (0) 8-9~.

129. The botanical name of Indian mustard· is :

.•.

(A) Brassica nigra

(C) Brassica juncea

~ ri CfiT ql1fC1fdCfl ~ t :
(A) ~~

(C) ~ \1jRt41

(8) . ~ ~z4fi?tI

(0) ~Wr

(8) Brassica campestris

(0) Brassica napus

130. The seed rate of bunch type grouhdriut is :

(A) 60-80 kg/ha

(C) 100-120 kg/ha

~ CfR9t ~I'h<ffl ctft~ t :

(A) 60-80 fcfmT/t.

(C) 100-120 ~/t.

. ,';Uf.:;,f

(8) 80-100 kg/ha
,I;,

(0) 120-140 kg/ha

(8) 80-100 fcfmTJt.

(0) 120-140 fcfi1rr/t.

A-Set
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131. The place of origin of cotton is :

(A) India (8) China

(C) USA (0) Brazil

~CfiT~~t

(A) ~ (8) ~

(C) ~~.v:. (0) ~

132. Isoproturon is a :

(A) Insecticide (8) Fungicide

(C) Nematicide (0) Herbicide
">"> v t~1~'!:iISlI~\{r;:J v:cn :

(A) CfllC:11~ICfl (8) CfiqCfi11¥ICfl

(C) *f:il11fil11 ~ ICfi (0) ~1Ic:h11~ICfl

133. An example of winter season annuals is :

(A) Phlox (B) Cox-comb

(C) Kochia (0) Zinia

mG ;tltlCfiIe11 "tftil CfiTv:cn d<;I~<0 It:
(A) T.fff1cR:r (8) Tf~
(C) ciJN4I (0) ~

134. Which one of the following is not the method of.budding ?

(A) Patch budding (8) Side budding

(C) Ring budding (0) T-budding
•

(A) ~ CfiFctCfiF41

(C) ~ CflfctCfl14'1

(8) ~ Cflf(1CflI'41

(0) it Cflf(1Cf)1'41

,N-81, \
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1a5~Which one of the following is not an-indoor plant?
(A) Caladium (B) Paperomia

(C) ChlorophyhAm (0) Acalypha "

~~~~'~tR~ ~~~_~~ mt ?

(A)cAeJlf!lIs/ (B) QW'!f7:l1l1

(0) ,<c6fflw

136. Rajat rakha is a variety of :

(A) Rose

(C) Tuberose

~~~~t:
(A) ~~

(B) Dahlia

(0) Chrysanthemum

(B) '5~ft1qlctfi
(0) ~&Ia~ em

137. Which colour of flowers blossoms on Amaltas ?

(A) - Red

(C) Blue

,WR1dl~1R m"-itr-ct ~ ~:' ?

(A)_ ~

(C) ~

(B) Yellow

(0) White

(B) ~

(0) ~

138. Mango belongs to which family ?

(A) Anacardiaceae

(C) Caricaceae

~~~%~t?
(A) Q:tlifil~~ %

(C) ~Rcfi('t1%

(B) Myrtaceae

(D) Sapotaceae

(8) ~% '

(0) ~<iI~~%



139. Lucknow-49 is a variety of :

(A) Banana

(C) Guava

(1&131 49 ~ ~ t- :
(A) ~q;1

(C) ~q;1

(B) Jack fruit

(0) Custard appte'"

(B) ~q;1

(0) fIldlCfl(1q;1

140. Anti-sterility vitamin is :

'(A) Vitamin E ,.

(C) Vitamin A

~fqlif~1t:

(A) fqlif"i1 ~

(C) fqlif"i1"Q;

(B) Vitamin C

(0) Vitamin 0

..

(B) fqlif~1 m
(0) fcRif~1sl

141. Asparagusbelongs to family :

(A) Alliaceae (B) Poaceae

(C) Apiaceae
~·· ....·············CfF'I'~~tl

(A) QfctQ!11
(C) ~ql'«f\

(0) Liliaceae

(B) ~

(0) fctfct'«f\

142. Ipomoea batatas is a botanical name of :

(A) Arvi (B) Tapioca

(C) Parwal

31I$tfrfi:l4I &121218~ ql1fl1fdeti ~ t :
(0) Sweet potato .

(A) 3WU

(C) ~

(B) ~~

(0) Illeti'leti4:\

. \
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143. Botanical name of cucumber is :

(A) Cucumis melo

(0) Cucurbita pep9'lC:
:~ qiy Cll1fC1fuCfi';ffl1 t :
(A) CfjCfjfi:JtI -qffl

. (O) Cfj¥ld427 Wrfr

(B) Cucurnis sativus

(0) Beta vulgaris

(B) CfjCfjfi:JtI N21$qtl

(0) ~ qM4R8

144. Jam should contain at least % sugar.

• (A) 55 (B) 68
,.#

(0) 72 ,1 (0) 78
~ ~ q;lf"B' q;lf ..................... % ;:fi;ft ~ ~ I

(A) 55 (B) 68
(C) 72 (0) 78

145. Chemical used to break dormancy of potato tuber is :

(A) Citric acid (B) Sodium thiosulphate

(C) Calurea (0) Thiourea

~ qi ~ qft t1'l'kfICl~1 ~ ~ ~ ~ t :
(A) ftl$f~Cfi ~ (B) ft':'If.s4'l ?Ojl~ft~(!

(C) ~{'jl@41 (0) ?Oj14f~41

146. Botanical name of sponge gourd is :

. (A) Luffa acutangula (B) Luffa cyllndrica

(0) Momordica charantia(C) Lagenaria sic@m(j~

fqq;;ft ~ CfiTCli"ffCIfuCfi ';ffl1 t :
(A) CfFiT ~'tf<J!.'1ffl

(C) c1J71R2{/ mtl?R47

(B) Cf1iT ~q;1

(0) sfisfifi't:h7 cfi?f.w41

"H~81



147. Principle symptom of Haemprrhagic septicemia Qr S;tuppih.gfever is:

(A) pairJfulh()tS\NeUi~gon'ttlroat sOd n~arby regi~~·.· '.." .
<,." ':,., .• ,. :,;, .. :,' I -.' '. . • '. ;. .

(B) Watery disc~~~~.frpnl.~8ls .

(C) Intermittent or fowl foetid diarrhoea

(0) Swollen udder,

rnNrT ~.7:fT ~ ~l CfiI~~l51lT t :
(A) lffi'w.rrm~ c6" llfu '-q ~ ~
(8) GfiR -e ~ CfiT~

(C) ~-~"CfR (f?;JT ~ ~

(0) 3WFr CfiT~
t,

148. Which of the following is effective control measure for foot and mouth disease ?
':... c:... ' ..,

(A) Seggregation of Animals
t

(8) .Poot lesions to be treated with 1% CuSO 4 or phenyl lotion

(C) Polyvalent vaccine

(0) All of these

~ ~qCflI m c6" ft;fQ: Ff1:;r -q ~'.~ -sr'q]Cfi ~~ em ~t?
(A) ~CfiT~·'

(8) mq GJil1% CuSO 4 en' f\tl<tl~&t ~ $rr

(C) 31fa ~ 4l'i1l ittf;r ,

(0) ~ri

149. Which type of disease mastitis is'?

(A) mineral defici~rtcy

(C) throatswelling . ;'F

'~m'~1TcfiRcthmt 7,

(A) ~~ctrCf;1:fi~
(C) lffi ctr ~ ~

(8) non-transferable

, (0). None of these

(8) ~,~,~'

(0) ~~ .•~.~
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150. ~Iack quarter 'd1S~fi$cliu~ed by":

, (A) Brucella bacteria

(9) Clostridium bacteria

~·~(.~)~mt7
(A) ~~

. (C) CMT~f.s4'i ~

(8) 'Pasteurellabactaria

(D) NOneof'th~ti'

(8) q,~t'1' ~

(D) ~~ctiW~

151. Which animal is mostly affected by tetanus' disease?

(A) Dogs (8) Horses

(D) Sheep(C) Cows

fa;m'Urr~~~mt 7
'- "::, P'~\'.· 1 ~~ii{r _t(j()~ ~

(A) ~-q
(C) ~-q

(, r (8) ~;-q'
;

(D) .~ ..q

152. ~bat ts the most dangerous type of bloat?

(A) Frothy . ,(E!) Dry <

,j" (C) Chronic (D) None of these

(A) lwr
(C).~

(8) ~

(0) ~~~,~.

153. Name the plant which commonly causes bloat: ').:J.

(A) Clover:rmj'r;:~ (8) Sorghum.:::!;

. (C)· Grain . (0)' Berseem

~~q;y-;:yjll~~ Q,'i,;:qd: 3ltfro~t:
(A) q;M\CI{ (B) ~

(C) GAT ..;;): (D) ~

f :,'.
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154. What should be given to animal to reduce bloat?

(A) Hay (8) Paddy

(C) Green fodder (0) Wheat bran

\lfACRq;l ~ ~ ~ c6 ~ "¥IT~~ ?

(A) ~ tfm (8) "3;am-r
(C) ~'qRJ (0) ~

155. Which type of hen is said to be ideal for hatchingchicken?

(A) Pullets (8) Oeshi

(C) Asiatic (0) .American

~~q;l3lU6TWA~~~<fim~t- ?

(A) '~. (8) m
(C) ~ (0) 3iqf{q:) Of

156. What is the best time to sit hen on eggs?

(A) Morning (8) Night

(C) Afternoon (0) Evening

~Cffi ~'tR~q;ymm ~~cp;nt- ?

. (A) -roo:' (8) m3r

(C) ~ (0) ~

..

157. At what degrees the egg trays are tilted in artificial incubation ?
~ ~ "

(A) 90° (8) 180°

(C) .45° . . (0) 60°
,'L .•

~ 31U6T.WA.q aft qft ~ en) ~ q;)ur ~,,~ ~ t ?

(A) 90° (8) 180°

.'(C) 45° .,.(0) 60°

. H:':'Sl 1'&'GRALL~126
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158.Which bacteria is used inthe-staR8r\Cufture fOfpr",paratiOn of curd?'

(A)' Lactobacillus acidophiluS (8) Brucella abortus

(9.) E. coli (D) Streptococcus'

~·~.q~-e-~~~~~'fr··
e (A) ~fl:IMfI .q,fm}fq;('ffl

(C) f.~.

'.c'""",

;.. (8) ~~

(D) $t?ti1ttJCI)fI

•

159. Titrable acidity of a good quality sw~ti~ndsour curd shOuld be in range of :
. .-," _.:"

(A) 0~8-1'2% lactic acid

(C) 0·0-0·5% lactic acid

(8) 1·2-1'5% Lactic acid

(D) Noneofth~.~

3tlifjq~ ~~, ~ afR~~;qftm"14"~'<"i1l1dl ~ iuft-qt:
(A) 0·8-1·2% ~~cti,~, (8) 1'2-1'5%~~q; ~

(C) 0·0-0·5% ~mq; ~ (D) m -e- cfiW ~

160. Incubation t~raftjre1orrcutdr$ :

(A), 37°C'

(e) 95°C

&i6tfltH ~ ~ qt ~,.~ mmt ?

(A) '37°C

(C) 95°C

(8) 40°C

(0)"12°0

(8) 40°C'

(D) 12°0

. .
161. Which milk commonly ls used for KhoEl.making?

• , ," '-'.."l.~ ..;., ....::-.. -. ~ .

(A) 8uffalomilk ' (9) Cow milk
(C), St"i~-camel milk .... n\ (D) She-goat milk

Qifl"4d:m1AA ~~ ~ ~ 'ctn ~I.rcti'f~tdt t).. .
(A) ~ 'CfiT 'tt:t (8) TJTl{ 'ctn ~~

(C) ~'~"~., '(D) ~ 'CfiT ~

. H~811:
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162. Yellow.colour of ghee of cow is due to the presence of :
(A) Xanthophyll (B) Bile

(C) Urobilin (0) Carotene
~ 1lGT~Cfll aqff?"lRl ~ ~~ eft CfiT mmt ?

(A)' ~~fq)<1 (B) ~

(C) 1<tf~f~H (0) ~{lil1

163. What is the minimum fat content in cream?

(A) 45% (B) 50%

'(C) 25% (0) 30%
m~fcmR ~ ~ cmr Cfll1IDIT ~ ~ t ?

W ~% ~ 00%

(C) 25% (0) 30%

I

\

(B)

(C)
(0) .~~

165. 1 gram of curd contain cells of lactic acid bacteria :

(A) 50 million .(B) 10 million

(C) 20 million (0) 100 million
1mll Git ~ aq~(l t'ilfcRCfl ~ ~ Cfll1IDIT t :
(A) 50 fl4f<.1lf'1 (B) 10 fl4f<1lf1

(C) 20 fl4f<.1lf1 (0) 100 f"'f<1lf'1

,:.;.J..Set
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166. Churning is done during formationofghee by a device called:

(A) Cream separator (8) . Mathani

(C) Palta (D) Favicet
err'~ qft ~ ~ ~ ~ ~ 7.f;r ~ qft 'ifRft t ?

(A) m~ (8) ll~

(C) 1WCT (D) ~fq~2

,
167. The stable pink colour developswith fUrfuralsolution in presence of HCIwill indicate:

:,' (A) Sesame oil (B) Sunflower oil

(C) Mustard oil (D) Olive oil
,

'f!.{'f!.{('1 ~f(W{~i'1~ ;ffl' HCI ~ Cfft<aq~Rf~ ~ ~ cp:ff ~ t ?

(A) ~ CfiT ~ (8) ~<\iltte;t) 'CfiT ~

(C) mm CfiT ~ (D) ~ CfiT ~

168. The essential fatty acid required for preparation of ghee :

(A) Arachidonic acid (B)8utyric aCid
(C) Propionic acid
err~ ~ ;ffl' CRfr;r ~ wWr 'frffi t~t·:
(A) Q:<lfcfhSTACfl ~

(C) Sf'!fYlORCfl ~

(D) Olic acid

(B) GO'{e1RCfl ~

(D) ~~

169. The product obtained by partially digested dehydrated whole milk and is important
base for preparing various sweets:

(A) Chhena ',- (8) Butter

(C) Cream (D) Khoa

~ CfiT ~ R'llffiCfl{OI ~ ~ ~~ ~~ 'iRR-qJtcUtT fcRJ;~t,l :
(A) ~ (B) ~

(C) m (D) ~

-
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170. In the following breed which one of the meat type?

(A) Kadaknath (!3) Cornish

(C) White leghorn (0) None of these

Ff~f(1f~d ~ -q ~ ~ *~ 1f5'ITfu t<p
(A) Ch:SCh"fI2J (8) ~

(C) riG ~ (0) ~ ~ cnW"%1

171. Poultry is awide term include rearing of:

(A) Turkey

(C) Emu

(B) Chicken

(0) All of these

~ ~ m-fcJ;;:r -qf~CfiT {i'il~!il~ ~ ?

(A) GCfff (B) lJ'if

~ ~ ~ ~ri

172. Asse! belong to whichtypeof.class·?

(A) Mediterranean

(C) Asiatic

~ f~;~p:(1f-q aW t ?

(A) qf.s2~f13FJ

(C) ~141~

(8) English

(0) Nons of these'

(B) ~

(0) ~~cnW~

173. Which one of the following is called Ancestor of Poultry ?

(A) Fowl (8) Red Jungle fowl

(0) Emu(C) Turkey

f-1~f(1f@ij~ -q ~ ~ ~ ~ CfiFJ t ?

(A) ~. (8) ~~~

(C) GCfff (0) ~

"'-81

(



r

177. Howmuch square feet otfloor space is required for each..mr91pdeep litter system?

(A) 10square fe~t (8) 5 square feet

(C) 1 square feet (D) 6 square feet

m~ ~ -q ~ -qaft 7f; m~ ~ m ~:q)f ..'tWT .~.l .
(A) 10~m (8) 5~m

(C), 1~m 6~m

174. Which type of breed is egg type?

(A) Kadaknath (8) Rode island red

(C) White leghorn (D) None of these.. . .. 11

HAf~f&(1~ -q ~ ctiFffit ~ ~ cm-it"Sf\lllfu t- .7

(A) Cf):SCf)11~ (8) -us ~ ~
(C) ~~ (D) ~~~~

175. What is the temperature of artificial incubator?

(A)94"8~ F

(C) 98·4°F

(8) 99·5°F

(D) 95·9°F

~ ~ ~ Cfft ~ (3')64141) q)f cp.rr~ t' 7

(A) 94'8°F (8) 99·5°F

(C) 98·4°F (D) 95·9°F

176. The process by which fertile and unfertile egg differe~tiat~ :, ,

(A) Scaling (8) Handling

(C) Candling (D) Differing
~ fs6'm q)f -.:rrq ~ \lIT ~ ~ am: ~HiSltl1<Un:r ~ -q ~ q;«ft t' :
(A) ~f~., (8) ~;;gf~.'

t ,
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178. Which pigment is given to the layer bird for yellow celouratton of:YOIk?

(A) Xanthophyll (8) Chlorophyll

(C) Phytoerythrin (0) None of these

~ qft ~ cit -{tr "5IGR~ "COffi fq'jqol ctAm mm t ?

(A) ;l\~NI<.1 (8) #i).aNl<.1

(C) 4'l1~iI~Rf~ (~) ~ ~ ~ 'ftf

179. Intensity of light is less in :

(A) Semi-intensive

(C) Cage system

>rcfimqft ~ ~ Cfi11mm t ?

(A) 'B+ft ~~p"«q
(C) ~row:r

(8) Intensive

(0) None of these

(8) ~~f.ftq

(0) ~~~'ftf

180. Energy requirement for broiler bird is :

(A) 2200 kcal

(C) 2000 kcal

(8) 2100 kcal

(0) 1800 kcal

~."t ft;rQ: fcf;o;ft ~ qft ~j(H4Cfidjmm t ?

(A) 2200 1%. ~ (8) 2100 1%. ~
(C) 2000 1%. ~ (0) 1800 1%. ~

181. Productive fife of layer bird is :

(A) 17-19 weeks (8) 21-72 weeks

(C) 22-29 weeks (0) 14-23 weeks

~~,~~.~ljlif.q·~~t ?

(A) 17-19~ (8) 21-72~

(C) 22-29 ~ (0) 14-23 ~

H-81
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182. Another name of Ra~tll d~e.se .is :
(A) Mouth disease
. (C) New castle'diseas$
<i;ft~dWrq;r~·~t :
(A)· ~WT
(C) ~~WT

~...

183. Origin of Murrah (buffalciw)breed is:
(A) Gujrat
(C) Nellore
;rnqftljd ~rnp.n~ ~ ~ t ?
(A) ~
(0) ~

184. Origin of Mehasana breed is :
(A) Gujrat
,(C) Maharashtra
;m~ ihHU'1i ~ em- ~ 'GJRftt ?

(A) ~

. !

.•185. Origin of Amritmehal (cow) breed ls ;
(A) Haryana

t- (C) Punjab
lJflJ qft 31l3dqtR1~ em- ~ -;;rnft t ?
(A) 8R4iIJIi

(C) ~

186. Origin of Sahiwal breedJs :
(A) Uttar Pradesh
(C). Punjab
lJflJ qft {fi~C"~' wsnftf··~·~ ~" til
(A) ~m
(C) ~

(8) Rabies
(0) Mark's disease

(8) ~
(0) ~WT

(8) Haryana
(0) Bellari

(8) ~R4iIJIi

(0) ~

(8) Haryana
(0) Andhra Pradesh

(8) ~R4iIJIi

(0) ~~

(8) Maharashtra
(0) Karnataka

(8) li~i{i~

(0) ctHflCfl

J.
(8) Maharashtra
(0) Karnataka

(8)' if~RiS;;

(0) Cfl'1flCfl



187. The production of pulses in India during 2010-11 was about:

(A) 12 million tonnes (B) 14 million tonnes

(C) 16 million tonnes (D) 18 million tonnes

cqmr ~ Cffif 2010-11 q1- ~, ~~ q;l~ ~~ ?:fT:

(A) 12 f~f(1ll"l c:r

(C) 16 fllf(1ll"l c:r

(B) 14 f"lf(1ll"l Co{

(D) 18 f"lf(1ll"lCo{

188. Central Institute for OottonBesearoh is located at:

(A) Nagpur

(C) Mumbai

~ q;tfffi ~~ ~ Wre t :
(A) ~~

(C) ~~

(B) Coimbatore

(D) Hyderabad

(8) collf'1iSi1{< ~

(D) ~G<liSiIIG~

189. Indian Institute of SoilScience is located at:

(A) Hisar (B) Bhopal

(C) New Delhi (D) LucknQlJVi, ,"
~~fcrnR~cnm"tR~t ?

(A) mm~ (B) ~~

(C) ~~-q (D) (1 (§l "l31 -q

190. The science of measuring and recording the direction and speed of wind is called as :

(A) Barometry (8) Radiometry

(C) Anemometry , (D) Hygrometry

~ ctft ~ ~ Ttfu CfiT~ ~ ~ ~ qR'fT %JR. ctft 'WSfTCfi~(1ltf1t :

(A) ~ (8) {fs<flq~')
(C) t(f1'1')q~') (D) ~I~~i)q~l

A~Set
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191. Frost is a phase of water.

(A) Gas

(C) Liquid

'qlffi'"tfAT ctt ~ , ~ t I

(A) ~

(C) ~

(8) Solid

(0) .Solution

(B) -am
(0) ~(~)

"!l"

'192. The moisture content of the atmosPhere by volume is about % of all fresh
water.

" ~
(A) 0-035 (B) 0·055

(C) 0·045 (0) 0-065

(A) 0·035

(C) 0·045

(~) 0-055

(0) 0·065

~ 193. A unit of measuring absolute humidity is :

(A) kg/kg

(B) g/mol

(C) percent

(0) glm3

mq~ ~ Ciil mtA qff ~ t.: .
(A) f<tm~

r.'

(8) mt:j~

(C) ~

(0) ~/€I''1'ilG<

A-Sat "....81



•

194. The term 'soil fertility' pertains to :

(A) the ability of the soil to produce crops

(8) the soil capacity supplying plant nutrients in an available form

(C) the growing of crops' by judicious use of fertilizers

(0) the balanced use of fertilizers

I~~I ~r~rCfct1~~:
(A) ~qft~wcmqft~~
(8) '9TGtr ~ "ffiC11 GliT W;'q .~ ~ "!lGR ~ qft~. ctt· ~ ~
(C) ~ -qJ?IT ~ ~ ~"WWr IDU~ ~ ~

(0) ~ ~~S!R1d wWr ~

195. Physical properties of soil are:

(A) Soil separates

(8) Soil air

(C) Soil colloids

(0) All of these

~~~TT~:

(A) ~ crfq;uy

(8) ~crrs

(C) ~ Cf;jctr~'(.e
(0) -q"Bm

196. On an average, humus contains % carbon.

(A) 52 (8) 58

(C) 62 (0) 68

alR:RA~~ ~~mm~,
(A) 52 (8) 58

(C) 62 (0) 68

"t13fGR~136 jA~SetH-81



197.'A vertical section of soirWith'different layers is known as :

(A) Soil profile (8) Regolith

(0) Soil horizon (D) Parent material

,~Cfif ~ ''qJlT~ ~':mtl ~ t, ;;JRT \lfffiT t :
(A) ~ ~ (8) 3lJCRtrr ~

(0) ~~ (D) ~~

~ 198. Majorcharacteristics 9f alfisol soil is:
(A) Recently formed (8) Low organic carbon content

(D) Low soil moisture(e) Hlghorganic carbon content '

&lCNl1~ct ~~ ~ lJOlt :
(A) , ;:fC:r - f.rllfu
(0) 31Nq; C61~f.:fqs~ ~

(8) ~ C6latRC6 ~ mq!ft
, . ,1. "

(D) ~ ~ ~ CfilftI 1\

199. The scientific name of KaranJis :

(A) Pongamia pinnata

(0) Sesbania sp.

~ Cf)T ~#lIAC6 -;nq t :
(A) rifitfi141 frF:nzr

, (C)mf4tt4/~

(8) G/yricidiamacu/ata'

(D) Phaseo/us tri/obus

(8) J<'1I4ttrnMan 4Cfi&21
(D) r$m2llMfl ?1$ffl4f1

.\

.200. A fertilizer containing at least two or more of the 'primary essential nutrients is called

as:

(A) Straight fertilizer

«(~) Mixed fertilizer

(8) Complex fertilizer

(D) Soluble fertitizer

~,~~~'itr~-mt4rqCfi ~~~~cm-m~:
(A) ~''itrmm~ (8) ~~

A-Si!t
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~ c6'f.mR em~ ~ _;fflftmr I am: om:'fiT

-.mm~c6'~lIttom:'fiT~~~ I

~;..*"~~~:
t

(i) <t~ ~ om::'"vITc ~ c6'~. W1P?*ld .~ ~

~om:-mc6'~~-qni~~~-";ffq, .l
m-r ~, ~&R, ~-~ 'fiT~ ~

'f.NffuJ ~ 'tf{ ~-<3\'qj \ft ~ t I

(ii) -qtt~~-qtt~ltff~~-~~~
I~ 'iIR-.ft' ~tl I

5. 'a'flt-*It ~ 'it +ltClQ,4t. : :

~-~i$iTm~w:flI'~~~~~1 :

~m,~~~~~~";f~~1 I
I
I

•

3.

correct _wer
before marking it on OMRAl' Il!;:wl~r

Ha_ding over of Answ,* Sheet to
InyigUator :
(i) Please ensure that all entries in the answer

sheet are filled up properly i.e, Name, Ron
No., Signatures, Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

Care in Handling the ,Apswer Sheet:

While using answer sheet adequate care should

be taken not to tear or spoil due to folds or

Wrinkles.


